PAGE  
5
ALL CORRECT ANSWERS ARE          “A”

CONTENT CHAPTER 1 
TOPIC: CELL MORPHOLOGY

1. The organisms to be identified have a nucleus surrounded by a nuclear membrane. Genetic material is concentrated predominantly in the 18 chromosomes which consist of DNA strands and protein molecules. These cells divide mitotically. Identify these organisms: 
A Eukaryotes 

B Bacteriophages 

C Prokaryotes 

D Viruses 

E Bacteria
2. It was detected that cells of certain organisms lack membranous organelles and nucleosome organization of hereditary material. What is this organism?

A Prokaryotes

B Viruses  

C Protists  

D Ascomycetes   

E Eukaryotes

3. Certain organisms have nucleus with nuclear membrane. Genetic material is predominantly in the chromosomes, which are composed of DNA threads and protein molecules. Cells divide by mitosis. These are 

A Eukaryotes 

B Prokaryotes 

C Bacteria 

D Bacteriophage   

E Viruses
1. A cell is an elementary living system that ensures proper structure, development, functioning, adaptation, procreation, and regeneration of the organism. Name the three main structural components of a cell:

A. Cell membrane (plasmalemma), cytoplasm, nucleus

B. Cytoplasm, organelles, nucleus

C. Glycocalyx, nucleus, organelles

D. Hyaloplasm, plasmalemma, nucleus

E. Cell membrane (plasmalemma), inclusions, organelles

4. Oval and round organelles with double wall are seen at the electron micrograph. The outer membrane is smooth, the inner membrane folded into cristae contain enzyme ATPase synthetase. These are: 
A Mitochondria
B Lysosomes  

C Ribosomes  

D Endoplasmic reticulum  

E Centrosomes  
5. Own protein synthesis system has established in certain organelles. These organelles are: 
          A Mitochondria 
          B Golgi apparatus 
          C Lysosomes 
          D Vacuoles 
          E Endoplasmic reticulum 
6. Destruction of mitochondria was detected in the cells by electron microscopy. What processes in the cell may be directly affected as a result? 
         A Oxidation of organic compounds 
         B Nuclear division  
         C Crossing over 
         D - 
         E Cleavage

7. The structure that divide a cell in a large number of compartments, canals, cisterns and is associated with plasmolemma were found in the pancreatic cells by electron microscopy. This organelle is: 
        A Endoplasmic reticulum

        B Mitochondria

        C Centrosome 

        D Ribosome

        E Golgi apparatus 

8. Cells of a healthy liver actively synthesize glycogen and proteins. Which types of organelles are well developed in the cell? 
       A Granular and agranular EPR 
       B Centrosome 
       C Lysosomes. 
D Mitochondria
E Peroxisomes.
9. Low level of albumins and fibrinogen was detected in the patient's blood. Decreased activity of what organelle of the liver hepatocytes can most probably cause it? 
A Granular endoplasmatic reticulum 
B Agranular endoplasmatic reticulum 
C Mitochondrions 
D Lysosomes 
E Golgi apparatus
10. Examination of a 28-year-old patient with hepatocerebral degeneration revealed an impairment of ceruloplasmin synthesis. This defect is associated with the following organelles:

A Granular endoplasmatic reticulum 
B Smooth endoplasmatic reticulum 
C Mitochondrions 
D Lysosomes 
E Golgi complex
Long-term taking of medicines can affect cells of the liver. Particularly, it can cause marked hypertrophy of agranular endoplasmic reticulum due to the following function of this organelle:

A
Detoxication of harmful substances

B
Proteinsynthesis

C
Nucleicacidsynthesis

D
Intracellulardigestion

E
Formationofmaturationspindle

11. 18-year-old- student has enlargement of the thyroid gland. He has elevated metabolic rate and tachycardia because of excessive secretion of the thyroxin. Which cell organelle is mostly responsible for secretion of this hormone? 
A Golgi apparatus 
B Lysosomes

C Centrosome

D Ribosomes

E Mitochondria
12. Round organelles of 0.2 – 1 μm size participate in cellular metabolism. Its manufacturing occurs in Golgi apparatus. They are very important in the process of individual development and are divided into groups according to the function and contents. Destruction of these organelles is very harmful for the cell. Name these organelles:
A
Lysosomes

B
Ribosome 

C
Endoplasmic reticulum

D
Mitochondria

E Centrosome

13. Digestive enzymes were detected in the certain cellular organelles by the biochemical analysis. These organelles are:
A Lysosome

B Golgi apparatus
C Endoplasmic reticulum

D Ribosome
E Mitochondrion

14. Small membrane bounded round organelles with digestive enzymes were detected by electron microscopy. These organelles provide intracellular digestion and cellular defense. Name the organelle

A Lysosomes 

B Rough endoplasmic reticulum

C Centrioles

D Ribosomes

E Mitochondria

15. The cell of the laboratory animal was overdosed with Roentgen rays. As a result, albuminous fragments formed in the cytoplasm. What cell organelle will take part at their utilization?

A
Lysosomes

B
Golgi apparatus
C
Ribosome

D
Endoplasmic reticulum

E Cells centre

16. Destruction and dysfunction of the cartilage cells is seen in the patient with rheumatism.  This process involves one of the cellular organelles. This organelle is
A
Lysosome

B
Golgi apparatus

C
Ribosome

D
Microtubules

E Cells centre

17. Ionizing radiation or vitamin E deficiency may increase the permeability of lysosome membranes. What consequences may arise from this pathology?    

A
Partial or complete cell disintegration

B
Intensive protein synthesis   

C
Intense energy synthesis   

D
Restoration of the cytoplasmic membrane   

E
 Formation of cleavage spindle   

18. In course of practical training students studied a stained blood smear of a mouse with bacteria phagocyted by leukocytes. What cell organelle completes digestion of these bacteria?   

A
Lysosomes  

B
Mitochondria  

C
Granular (rough) endoplasmic reticulum  

D
Golgi apparatus  

E Ribosomes  
19. Mucopolysaccharidosis is a storage disorder. Breakage of polysaccharides is altered as a result of enzymes deficiency. Its accumulation and elevated excretion with urine is observed in patients. In which organelles accumulation of mucopolysaccharides take place?

A Lysosome

B Mitochondrion

C Endoplasmic reticulum

D Golgi apparatus

E Centrosome

20. There is a group of hereditary disorders that is characterized by accumulation of carbohydrates or lipids in the cells. This is a result enzyme deficiency in 
A Lysosome

B Mitochondrion

C Endoplasmic reticulum

D Golgi apparatus

E Centrosome
21 Cytochemical investigation has revealed high content of hydrolytic enzymes in cytoplasm. This phenomenon indicates high activity of the following organelles:

A Lysosomes
B Cytocentrum
C Endoplasmic reticulum
D Polysomes
E Mitochondria
22. Some human disorders are characterized by destruction of lysosomal membranes in the cells. It leads to the           

A Autolysis

B Dysfunction of mitosis
C Abnormal translation

D Abnormal transcription

E Accumulation of certain biochemical compounds
23. Zelveger syndrome is the hereditary disorder in which functions of central nervous system, liver and kidney are affected. Syntheses of cholesterol, β-oxidation of fatty acid, breakage of hydrogen peroxide are altered in the cells. Function of which organelles is abnormal in the patients?

A Peroxysomes

B Endoplasmic reticulum

C Golgi apparatus
D Centrosome

E Lysosomes

24. Process of the ribosomes biogenesis was altered experimentally by the action of mutagenic factors.  Which metabolic process will be affected?

A
Protein  biosynthesis

B
Carbohydrate biosynthesis  

C
ATP production  

D
Photosynthesis

E
Biooxydation  

25.  A tissue sample of benign tumour was studied under the electron microscope. A lot of small (15-20 nm) spherical bodies, consisting of 2 unequal subunits were detected. These are: 
A Ribosomes 
B Mitochondria 
C Microtubules 
D Golgi complex
E Smooth endoplasmic reticulum 
26. Labeled amino acids alanine and tryptophane were injected to a mouse in order to study localization of protein synthesis in its cells. The labeled amino acids will be accumulated near the following organelles   

A
Ribosomes  

B
Agranular (smooth) endoplasmic reticulum  

C
Cell centre  

D
Lysosomes  

E Golgi apparatus 

27. Ribosomes are the organelles that bind amino acids in the polypeptide chain. Number of the ribosomes vary in the cells of different organs and depend on the functions of the organ. Cells of which organ contain the ghreatest number of ribosomes?    

A
The secretory cells of  pancreatic gland

B
Epithelium of a urinary bladder  

C
Epithelium of a kidney tubules  

D
The upper layer of skin epidermis  

E
Epithelium of  small intestine

28. Virus of grippe gets into the cell. Where will translation of the viral proteins occur?

A At the polyribosome

B In the nucleus

C In the lysosomes

D On the smooth endoplasmic reticulum

E In the centrosome
29. A 36-year-old patient underwent tooth extraction at a dental clinic. After two weeks the stratified squamous epithelium regenerated at this site. What organelles were involved in the restoration of the mucous membrane?

A Ribosomes 

B Centrosomes 

C Postlysosomes

D Smooth EPR 

E Mitochondria
30. Nucleoli of nuclei have been damaged due to tissue culture nuclear irradiation. Regeneration of the following organelles becomes hampered in cytoplasm:
A Ribosomes
B Lysosomes
C Endoplasmic reticulum
D Microtubules
E Golgi apparatus
31. Certain cell organelle is situated near the nucleus. It consists of two perpendicular cylinders composed of microtubules. This organelle provides formation of mitotic apparatus. It is

A Centrosome

B Endoplasmic reticulum

C Ribosome

D Mitochondrion

E Lysosome

32. Scientist destroyed certain cell structure during the experiment. That altered ability of the cell for mitosis. Which cell structure was destroyed?

A Centrosome

B Endoplasmic reticulum

C Ribosome

D Mitochondrion

E Lysosome
33. Micromanipulator was used to extract one of the two centrioles of centrosome (cell center) from hepatocyte (liver cell). What process will STOP OCCURRING in this cell? 

A Division 

B Energy exchange 

C Glycogen synthesis 

D Protein biosynthesis 

E Lipid synthesis
73. A diet must include fats. Fats perform plastic function in an organism due to their inclusion in:

A. Cell end-organs

B. Cell ion pumps

C. Cell membranes

D. Cell ion channels

E. Glycocalyx

34. Golgi complex exports substances from a cell due to the fusion of the membrane vesicle with the cell membrane. The vesicle contents flow out. What process is it?

A
Exocytosis

B
Endocytosis

C
Active transport

D
Facilitated diffusion

E All answers are false

35. Phagocytosis provides feeding in some protozoan like amoeba. In which human cells this mechanism is not the way of nutrition but provides defense of an organism?

A Leukocytes;

B Erythrocytes;

C Epithelium of digestive tract;

D Epithelium of respiratory tract;

E Epithelium of excretory tract.

36. At the laboratory experiment the leukocyte culture was mixed with staphylococci. Neutrophile leukocytes engulfed and digested bacterial cells. This process is termed as: 

А Phagocytosis 
B Diffusion 
      C Osmosis 
      D Facilitated diffusion
E Pinocytosis 
37. During the laboratory experiment cell nuclear was treated by chemicals that destroy basic histone proteins. Which cellular structure will be destroyed? 

A Chromosomes

B Plasma membrane

C Nuclear membrane

D Ribosomes

E Karyoplasma

38. Scientist studies by an electron microscopy an elementary structure composed of eight histone molecules and DNA that make about 1.75 turns around protein core. Which structure is seen?

A Nucleosome

B Elementary fibril

C Semi-chromatid

D Chromatid

E Chromosome

39. Chromosomal complement of a woman contains a chromosome with arms p and q of equal length. What morphological type does this chromosome belong to? 

A Metacentric 

B Acrocentric 

C Submetacentric 

D Telocentric 

E Subacrocentric
40. Analysis of female karyotype demonstrated that in X chromosome centromere is situated almost in the center. Such chromosome is known as

A Submetacentric

B Metacentric

C Acrocentric

D Telocentric

E Satellite-chromosome 

41. Cytogenetic analysis detected karyotype of the patient – 47,XYY. Extra chromosome has centromere that is situated very close to the one of the ends and as a result one pair of the arms looks much longer than another one.  Such chromosome is termed as

A Acrocentric

B Submetacentric

C Metacentric

D Telocentric

E Satellite-chromosome 

Light microscopy was used to study the morphology of human Y chromosome. Centromere is located close to one of the ends of the chromosome. Name the type of the chromosome:

A
 Acrocentric

B
Telocentric

C
Polytene

D
Metacentric

E
Submetacentric

42. Nucleolar organisers of the 13-15, 21 and 22 human chromosomes have about 200 claster genes along which certain type of RNA is synthesized. Which type of RNA do they encode?
A
rRNA  

B    tRNA 

C    mRNA 

D    snRNA  

E    tRNA + rRNA  
43. Scientist during the laboratory experiments gets the mutant cells that lack nucleoli. Which substances are not synthesized in these cells?

A
 ribosomal RNA  

B  transfer RNA 

C  monosaccharids 

D  lipids 

E  polysaccharides  
44. Normal, actively dividing human red bone marrow cells are analyzed. What number of chromosomes in the cell is typical for G1 period?   

A
46   

B
48   

C
47   

D
45  

E 23  
45. While studying maximally condensed chromosomes of human karyotype the process of cell division was arrested in the following phase:

A
Metaphase

B
Prophase

C
Interphase

D
Anaphase

E Telophase
46. Karyotyping of healthy man cells is carried out. In the karyotype there was found out a fine acrocentric non-paired chromosome. What chromosome is it?

A Y-chromosome 
B 
Group B chromosome

C 
Group C chromosome
D 
Group A chromosome

E 
Х-chromosome
47. A patient was diagnosed with Klinefelter syndrome. The patient with this disease has karyotype 47, XXY. How many sex chromosomes are in this set?

A Three

B Zero

C Forty-four

D One

E Two
48. A woman is diagnosed with Turner syndrome (karyotype 45, X0). How many autosomal pairs would her somatic cells contain?

A 22

B 44

C 23

D 24

E 45
49. Human karyotype is analyzed at metaphase stage. Cell division is arrested with the help of
A Colchicine

B Iodine

C Methanol

D KCl

E Ethanol

TOPIC: PROTEIN BIOSYNTHESIS

50. Support of the life on the any level is provided by reproduction phenomenon. On which level reproduction occurs on the basis of template synthesis?
A Molecular

B Subcellular

C Cellular

D Tissue

E Organism level
51. Among organic substances of cell there is a polymer, composed of dozens, hundreds and thousands of monomers. This molecule is capable of self-reproduction and can be an information carrier. X-ray structure analysis shows this molecule to consist of two complementary spiral threads. Name this compound:

A DNA

B Hormone

C Cellulose

D RNA

E Carbohydrate

52. Ability to divide is characteristic of prokaryotic and eukaryotic cells. Prokaryotic cell division is different from that of eukaryotic, but there is one molecular process that is the basis of both types of division. Name this process.
A DNA replication

B Transcription
C Reparation
D Translation
E Gene amplification
53. According to the model of double DNA helix that was suggested by Watson and Crick, it was established that one of chains would not be lost during replication and the second chain would be synthesized complementary to the first one. What way of replication is it?   

A
Semi-conservative   

B
Analogous   

C
Identical   

D
Dispersed   

E Conservative  
54. During cell division, DNA replication occurs by a signal from the cytoplasm, and a certain portion of the DNA helix unwinds and splits into two individual strands. What enzyme facilitates this process? 

A Helicase 

B RNA polymerase 

C Ligase 

D Restrictase 

E DNA polymerase
55. Epithelium regeneration of mucous membrane of oral cavity (cell reproduction) was accompanied by semi-conservative DNA replication. Nucleotides of a new DNA chain are complementary to:    

A
Maternal chain

B
Sense codons  

C
DNA-polymerase enzyme  

D
Introns  

E RNA-polymerase enzyme 
56. Patients suffering from xeroderma pigmentosum have extremely photosensitive skin due to disrupted excision repair. Specify the process that is affected in such patients: 
A Repair of DNA molecule 

B Synthesis of mRNA 

C Maturation of mRNA 

D Synthesis of protein primary structure 
E Intron extraction and exon connection
57. In the course of evolution there developed molecular mechanisms for correction of damaged DNA molecules. This process is called: 

A Reparation

B Transcription 

C Translation 

D Replication 

E Processing
58. Cells of a person working in the Chornobyl Exclusion Zone have undergone a mutation in DNA molecule. However, with time the damaged interval of DNA molecule has been restored to its initial structure with a specific enzyme. In this case the following occurred: 
A Repair 
B Replication 
C Transcription 
D Reverse transcription 
E Translation
59. An experiment proved that UV-irradiated skin cells of the patient with xeroderma pigmentosum restore the native structure of DNA slower than the cells of healthy people due to the defect in repair enzyme. What enzyme takes part in this process?

A
Endonuclease

B
DNA polymerase   

C
DNA gyrase  

D
RNA ligase 

E Primase

60. While studying the topic ”Molecular biology” students were asked why genetic code is considered to be universal. The correct answer is: “As… 
A
It is same in the most of an organisms

B
Contains information about the protein biosynthesis

C
Has triplet nature  

D
Specifies amino acids   

E    Is collinear 
61. Treatment of a patient with hereditary form of immunodeficiency involved gene therapy: the enzyme gene was introduced into the cells of the patient by means of a retrovirus. What property of the genetic code allows to use retroviruses as vectors of functional genes?   
A
Universality

B
Specificity   

C
Co linearity   

D
Continuity   

E   Redundancy   
62. The amino acids can be specified by different number of the codons – from 1 to 6. This property of genetic code is termed as

A Degeneracy
B Co linearity
C Universality
D Specificity
E Triplet nature

63. Mutation of the structural gene didn’t cause substitution of the amino acid. Which characteristics of genetic code it illustrates? 
A Degeneracy

B Co linearity

C Universality

D Specificity

E Triplet nature

64. Number and sequence of amino acids in the insulin molecule was determined experimentally. This sequence is specified by 
A Number and sequence of nucleotides in the exons 
B Order of structural genes
C Number and sequence of nitrogenous bases in the DNA
D Certain order of exons and introns

E Number and sequence of nucleotides in the introns
65. Process of transcription takes place in a human cell. RNA-polymerase moving along DNA molecule reaches certain nucleotide sequence and after that transcription stops. This DNA sequence is:  

A
Terminator  

B
Promotor  

C
Repressor 

D
Operator 

E   Regulator  

66. It was found out that some compounds, for instance fungi toxins and some antibiotics can inhibit activity of RNA-polymerase. What process will be disturbed in a cell in case of inhibition of this enzyme? 
A Transcription 
B Reparation 
C Processing 
D Replication
E Translation 

67. mRNA synthesis occurs on the DNA template under the complementarity principle. If DNA triplets are АТG-CGТ, matching mRNA codons are:

A  UАC-GCА  

B  UАG-CGU  

C  ТАG-UGU  

D АТG-CGТ  

E  АUG-CGU  

68. RNA-polymerase B (II) is blocked due to amanitine poisoning (poison of death-cup). It disturbs: 
A Synthesis of m-RNA 
B Reverse transcription
C Maturation of m-RNA 
D Synthesis of t-RNA 
E Primers synthesis 

69. The most of eukaryotic structural genes are functionally unequal. They contain exons (informative regions) and introns (non-informative regions) Which RNA molecule is synthesized on this DNA?

A pre-mRNA

B mRNA

C snRNA

D tRNA

E rRNA

70. It was proved that a molecule of immature mRNA (precursor mRNA) contains more triplets than amino acids found in the synthesized protein. The reason for that is that translation is normally preceded by: 

A
Processing

B
Initiation

C
Reparation

D
Mutation

E
Replication

71. Gene that specifies polypeptide chain consists of 4 exons and 3 introns. Mature RNA after processing will have

A 4 exons;

B 2 exons, 2 introns;

C 1 exon, 1 intron;

D 3 exons;

E 4 exons, 3 introns.

72. General structure of eukaryotic genes is as follows: exon-intron-exon. Such functional structure of a gene leads to certain specifics of the transcription process. What sequence will correspond with precursor mRNA (immature)?
A
Exon-intron-exon

B
Exon-exon-intron 

C
Exon-exon 

D
Intron-exon

E Exon-intron  

73. Nowadays about 50 minor bases have been found in the t-RNA structure besides the main four nitrogenous bases. Choose the minor nitrogenous base: 
A Dihydrouracil 
B Uracil
C Cytosine 
D Cysteine 
E Adenine 
74. First mRNA triplet is UAU. Which complementary triplet is in the tRNA molecule?   

A
АUА  

B
AАA

C
GUG  

D
UGU 

E
CUC
75. Polypeptide consists from 54 amino acids. How many informative codons has mRNA that served as a template for this polypeptide?
A 54  

B 27  

C 108   

D 162  

E 44
76. During the analysis the cytoplasm was determined to have high content of aminoacyl-tRNA synthetase. The enzyme ensures the following process:

A Amino acid activation

B Repair

C Transcription

D Elongation

E Replication
77. Examination of a patient revealed reduced contents of magnesium ions that are necessary for attachment of the ribosomes to the granular endoplasmic reticulum. It is known that it causes disturbance of protein biosynthesis. What stage of protein biosynthesis will be disturbed?  

A
Translation  

B
Transcription  

C
Replication  

D
Amino acid activation  

E   Termination 
78. Genetic information is stored in DNA but does not participate directly in protein synthesis within DNA cells. What process ensures transfer of genetic information into polypeptide chain? 

A Translation 
B Formation of rRNA 
C Formation of tRNA 
D Formation of iRNA 
E  Replication 

79. At the stage of translation at the rough endoplasmic reticulum ribosome moves along the mRNA. Amino acids are joined together by peptide bonds in a specific sequence, and thus polypeptide synthesis takes place. The sequence of amino acids in a polypeptide corresponds to the sequence of:

A
mRNA codons   

B
rRNA anticodons

C
tRNA nucleotides

D
tRNA anticodons 

E   rRNA nucleotides
80. Amino acids join to each other in ribosomes of granular endoplasmic reticulum. Knowing the sequence of amino acids and applying genetic code, it is possible to determine the sequence of nucleoids in:

A mRNA 
B Introns 
C Proteins 
D Carbohydrates 
E  rRNA
81. A man is a carrier of HIV that is an RNA virus. The cells of this patient synthesize viral DNA. This process is based on:  
A Reverse transcription  

B
Replication  

C
Transcription
D
Repair  

E
Translation  

82. It was revealed that T-lymphocytes were affected by HIV. Virus enzyme - reverse transcriptase (RNA-dependent DNA polymerase) - catalyzes the synthesis of:  

A DNA on the matrix (template) of virus mRNA  

B Virus mRNA on the matrix (template) of DNA  

C DNA on virus ribosomal RNA  

D Viral DNA on DNA matrix  

E  mRNA on the matrix of virus protein 
83. During reproduction of RNA-containing viruses that cause tumors in animals, genetic information can be transmitted in the opposite direction from the RNA to the DNA via a specific enzyme. The enzyme or reverse transcription is called

A Reverse transcriptase

B Ligase

C Primase

D Topoisomerase

E DNA polymerase
84. You are studying functioning of a bacteria operon. The repressor protein has been released from the operator gene. Immediately after this the following process will start in the cell:   
A
Transcription  

B
Translation  

C
Replication  

D
Processing  

E Repression 
TOPIC: MITOTIC CYCLE. MITOSIS. MEIOSIS
85. The cells of the red bone marrow belong to the constantly renewing cellular complex. By which type of division these cells multiply normally? 

A Mitosis

B Budding

C Meiosis

D Amitosis

E Schizogony

86. Life cycle of a cell includes the process of DNA auto-replication. As a result of it single chromatid chromosomes turn into double cromatid ones. What period of the cell cycle does this phenomenon fall into?

A
S  

B
Go  

C
G1
D
G2  

E M

87. Sporozoit of malarial plasmodium has chromosomal set 1n=12. Then it multiplies in the human liver cells by schizogony (one of the kinds of mitosis).  How many chromosomes will have such multiplying cells? 

A
12  

B
24 

C
32 

D
64 

E
76 

88. In the cells that are capable for cell division occurs processes of growth, formation of organelles, active synthesis of lipids, RNA, proteins, carbohydrates. At which period all these processes except for DNA replication take place?

A
Pre-synthectic
B
Synthetic
C
Pre-mitotic
D
Telophase
E
Anaphase
89. In the pre-synthetic period DNA replication doesn’t occur, so number of DNA molecules is same is chromosomes number. How many DNA molecules will have human somatic cell at this period?

A 46 

B 23 

C 92

D 69

E 48
90. In the life cycle of a cell during mitosis a natural change in the amount of genetic material occurs. The DNA doubles at the following stage: 
A Interphase 

B Anaphase

C Telophase

D Metaphase
E Prophase
91. Electron micrograph shows the cell in which nuclear envelope and nucleoli are absent, centrioles are at the opposite poles. Chromosomes look like the threads situated in cytoplasm. This is typical for

A Prophase

B Anaphase

C Interphase

D Metaphase

E Telophase

92. The study of mitotic cycle phases of onion root revealed the cell, in which the chromosomes are situated in the equatorial plane, forming a star. What stage of the cell mitosis is it?

A Metaphase 
B Anaphase

C Telophase

D Interphase

E Prophase
93. Histological specimen of endometrium demonstrates isolated epithelial cells with chromosomes that form a “plate” located in the equatorial plane of the cell. What stage of the cell cycle is it?
A Metaphase 

B Anaphase

C Telophase

D Interphase
E Prophase
94. Moving of the daughter chromatids to the poles of the cell is observed in the mitotically dividing cell. On what stage of the mitotic cycle is this cell?

A
Anaphase

B
Metaphase  

C
Telophase

D
Prophase

E  Interphase
95. During the postsynthetic period of mitotic cycle the synthesis of tubulin proteins was disturbed. These proteins take part in construction of division spindle. It can lead to the disturbance of:  

A
Chromosomes' disjunction

B
Spiralization of chromosomes  

C
Cytokinesis  

D
Despiralization of chromosomes  

E
Mitosis duration  

96. At which phase of mitosis human cell has 92 single-chromatid chromosomes?

A Anaphase 
B Interphase

C Prophase

D Metaphase

E Telophase

97. Human cells with 44 and 48 chromosomes were found in the leukocytes culture after the action of mutagenic factors. It is explained by failure of mitotic cycle at the following stage: 
A
Anaphase  

B
Synthetic period of the interphase
C
Telophase  

D
Prophase 

E
Pre-synthetic period  

98. Cells are treated with colchicine during the karyotyping for the diagnosis of chromosomal disorders. Colchicine blocks spindle fibers. At which stage mitosis will be arrested? 
A
Metaphase
B
Interphase 

C
Prophase 

D
Telophase 

E   Anaphase  

99. During the examination of  2-month-old child pediatrician paid attention to specific mewing cry, microcephaly and heart defect.. By cytogenetic method karyotype 46XY, 5p- was determined. At which stage of mitosis karyotype was studied?

A
Metaphase

B
Prometaphase 

C
Prophase 

D
Telophase 

E   Anaphase  

100. Human somatic cells are diploid (2n), but polyploid cells of red bone marrow (megakaryocytes) may have up to 64n chromosomes. What is the mechanism of its forming?

A Endomitosis;

B Polyteny;

C Mitosis;

D Amitosis;

E Meiosis.

101. Culture of the tumor cells demonstrates rapid cell division by direct splitting of the nucleus.   Formation of spindle fibers and condensation of chromatin is not observed. Nucleolus and nuclear membrane are present.  This type of cell division is

A Amitosis

B Karyokinesis

C Mitosis

D Cytokinesis

E Endomitosis

102. During embryogenesis the epithelial band also known as vestibular plate gives rise to development of vestibule of mouth. What biological mechanism of the programmed death of cells provides formation of buccolabial sulcus from epithelial plate?   

A
Apoptosis

B
Necrosis  

C
Meiosis  

D
Paranecrosis  

E Amitosis  
103. According to the law of constancy of chromosome number, most animal species have definite and constant chromosome number. The mechanism that maintains this constancy during sexual reproduction of organism is called 

A Meiosis

B Schizogony

C Regeneration

D Amitosis

E –
104. Genetic recombination is achieved via several mechanisms. One such mechanism is crossing-over. It occurs at the following stage of prophase in the first meiotic division: 
A Pachynema

B Leptonema

C Zygonema

D Diplonema 

E Diakinesis
105. Students study the stages of gametogenesis. They analyze a cell having a haploid number of chromosomes, and each chromosome consists of two chromatids. The chromosomes are located at the equatorial plane of the cell. Such situation is typical for the following stage of meiosis

A
 Metaphase of the second division

B
  Anaphase of the second division

C
 Metaphase of the first division

D
 Prophase of the first division

E   Anaphase of the first division
ONTOGENESIS

106. Electron diffraction pattern of a spermatozoon clearly presents a sheath like structure localized in the spermiocalyptrotheca (anterior part of the head)  and participating in dissolution of ovular membranes. Name this structure: 
A Acrosome 
B Centriole 
C Microtubules 
D Axoneme 
E  Segmented columns
107. Examination of uterine cavity revealed an embryonated ovum that wasn't attached to the endometrium. The embryo is in the following stage of development:   

A
Blastocyst

B
Zygote  

C
Morula  

D
Gastrula  

E
Neurula  

108. A lancelet embryo is at the developmental stage during which its cells multiply, while its general volume remains practically unchanged. What developmental stage is it?
A Cleavage

B Gastrulation

C Organogenesis

D Histogenesis

E Neurulation
109. Histological specimen of a 10-day human embryo represents 2 contacting sacs (amniotic and yolk sacs). Specify the structure that separates the amniotic cavity from the yolk sac: 

A Embryonic shield 

B Amniotic stalk 

C Floor of the amniotic sac 

D Roof of the yolk sac

E Extraembryonic mesoderm
110. Gastrulation is the period of embryogenesis, when germinal layers are formed, resulting in three-layered structure of an embryo. What gastrulation mechanism is characteristic of a human embryo?

A Delamination and immigration

B  Invagination 

C  Epiboly 

D Immigration and invagination

E Delamination and epiboly

111. Examination of a pregnant woman who has been taking alcohol revealed disturbed anlage of ectoderma during the fetal life. What derivatives of this leaf have defects?  

A
Neural tube

B
Kidneys  

C
Bowels epithelium  

D
Liver  

E
Sexual glands  

112. An newborn boy has been diagnosed with microcephaly (holoprosencephaly),  hydrocephalus. Doctors suspect that this brain disorder developed due to the fact that the mother had been taking actinomycin D during her pregnancy (teratogenic factor). What germ layers was affected by the teratogen?   

A
Ectoderm
B
All germ layers 

C
Entoderm  

D
Mesoderm  

E
Entoderm and mesoderm  
113. A microslide of the skin sample taken from the finger of a child shows that epidermis is insufficiently developed. What germ layer was damaged in the process of embryo development? 

A Ectoderm 

B Mesoderm 

C Endoderm 

D Mesenchyme 

E Ectomesenchyme 
114. An embryo has signs of disturbed process of dorsal mesoderm segmentation and somite generation. What part of skin is most likely to have developmental abnormalities?  

A
Derma

B
Hair  

C
Sebaceous glands  

D
Epidermis  

E Sudoriferous glands  
115. As a result of a development anomaly a newborn has malformation of major salivary glands. This anomaly is caused by the damage of the following embryonal structure:
A Ectoderm
B Splanchnotom
C Somites
D Entoderm
E Mesenchyme
74. In an experiment, the myotome was destroyed in a rabbit fetus. This manipulation will result in malformation of the following structure:

A. Skeletal muscles

B. Smooth muscles

C. Serous membranes

D. Axial skeleton

E. Dermal connective tissue

116. Study of the biopsy material of an embryo revealed a zone of developmental abnormality in a somite. The zone was located close to the endoderm and notochord. What formations may have abnormal development in case of pregnancy continuation?

A
Skeletal tissue

B
Cardiac striated muscle tissue  

C
Fibrous connective tissue of skin

D
Skeletal striated muscle tissue  

E
Genito-urinary system  
117. As a result of expression of some genome components the embryo cells acquire typical morphological, biochemical and functional properties. Name this process:  

A
Differentiation

B
Capacitation  

C
Reception  

D
Determination  

E Induction  
118. An alcoholic woman has born a girl with mental and physical developmental lag, cleft palate and upper lip. Doctors diagnosed the girl with fetal alcohol syndrome. What effect is the cause of the girl's state?   

A
Teratogenic   

B
Mutagenic   

C
Malignization  

D
Carcinogenic   

E Mechanic  
119. An 8-week-pregnant woman with acute respiratory disease and temperature raised up to 39o C has called in a doctor. The doctor insisted on her avoiding taking paracetamol, because in this period of pregnancy there is a risk of its: 
A Teratogenicity 
B Embryotoxicity 

C Fetotoxicity 

D Hepatotoxicity

E Allergenicity
120. In Western Europe nearly half of all congenital malformations occur in the children conceived in the period when pesticides were used extensively in the region. These congenital conditions are the result of the following factor: 

A Teratogenic 

B Carcinogenic 

C Malignization 

D  Mutagenic 

E Mechanical

121. A woman who had been consuming alcohol excessively during her pregnancy had a child with cleft palate and upper lip. These presentations are indicative of some chromosomal anomalies. What process do they result from?
A Teratogenesis
B Carcinogenesis
C Mutagenesis
D Phylogenesis
E Ontogenesis
122. During pregnancy a woman has been taking an antiepileptic drug - sodium valproate. It resulted in her child developing a vertebral column malformation - spina bifida. Name the described effect of the drug: 

A Teratogenic effect 

B Immunosuppressive effect 

C Acquired tolerance 

D Dependence 

E Sensitizing effect
123. At a certain stage of human ontogenesis, physiological bond occurs between circulatory systems of the mother and the fetus. This function is being carried out by the following provisory organ: 

A Placenta 

B Yolk sac 

C Amnion 

D Serous tunic 

E  Allantois
124. A physician collects the patient's history of the post-embryonic period of ontogenesis from birth to puberty. In this case we are talking about:

A
Juvenile period

B
The first period of adulthood

C
Senium

D
The second period of adulthood

E Advanced age

125. For the purpose of myocardium infarction treatment a patient was injected with embryonal stem cells derived from this patient by means of therapeutic cloning. What transplantation type is it?   

A
Autotransplantation  

B
Allotransplantation  

C
Xenotransplantation  

D
Isotransplantation  

E Heterotransplantation  
126. A 30-year-old patient has undergone keratoplasty in the transplantation center, cornea has been taken from a donor, who died in a road accident. What kind of transplantation was performed? 
A Allotransplantation 

B Autotransplantation 

C Xenotransplantation 

D Explantation 

E Heterotransplantation
127. Differentiation of B-lymphocytes into plasma cells leads to synthesis of immunoglobulins that ensure specific immune response of the body. Differentiation of B-lymphocytes takes place in following organ of immune system:
A Red bone marrow

B Thymus

C Thyroid gland

D Tonsils

E Liver
128. Following exposure to radiation a lot of mutant cells appeared in a patient. Some time later most of them were detected and destroyed by the following cells of the immune system:   

A
T-lymphocytes-killers

B
Plasmoblasts  

C
T-lymphocytes-supressors

D
B-lymphocyte

E Stem cells  

129. A patient in a transplantation centre underwent heart transplantation. The organ was taken from a donor who died in a road accident. Foreign heart can be rejected as a result of development of transplantation immunity. It is usually prevented by means of:   

A
 Immunosuppressors   

B
 Chemotherapy   

C
 Ultrasound   

D
 Enzymes   

E
 X-ray therapy  

130. Highly injured person gradually died. Please choose the indicator of biological death:

A Autolysis and decay in the cells 
B Absence of movements
C Absence of palpitation 
D Loss of consciousness 
E Disarray of chemical processes 

CONTENT CHAPTER 2
MENDELIAN INHERITANCE

1. Examination of a 12-year-old boy with developmental lag revealed achondroplasia: disproportional constitution with evident shortening of upper and lower limbs as a result of growth disorder of epiphyseal cartilages of long bones. This disease is: 
A Inherited, dominant 
B Inherited, sex-linked
C Inherited, recessive 
D Congenital 
E Acquired
2. An underage patient has signs of achondroplasia (dwarfism). It is known that this is a monogenic disease and the gene that is responsible for the development of such abnormalities is a dominant one. The development of that child’s brother is normal. Specify the genotype of the healthy child: 
A aa 

B AA 

C Aa 

D AaBb 

E AABB
3. Examination of newborns in one of the Ukrainian cities revealed a baby with phenylketonuria. The baby's parents don't suffer from this disease and have two other healthy children. Specify the most likely parents' genotype:   

A
Аа х Аа    

B
АА х аа   

C
аа х аа   

D
Аа х аа  

E Аа х АА 
4. A girl is diagnosed with primary microcephaly that is a monogenic autosomal recessive disease. Her natural brother develops normally. What genotypes do the parents of these children have?

A Аа х Аа 
B АА х АА 
C аа х аа 
D АА х аа 
E ААВВ х ААВВ  

5. One of the parents is suspected of having phenylketonuria recessive gene. What is the risk of giving birth to a child with inborn phenylketonuria? 
A 0% 
B 100% 
C 25%
D 75%
E 50% 
6. A family of students who came from Africa got a child with anemia signs. The child died soon. Examination revealed that the child's erythrocytes have abnormal semi lunar shape. Specify genotypes of the child's parents:    

A
Аа х Аа  

B
Аа х аа  

C
АА х АА  

D
аа х аа  

E
Аа х АА   

7. Phenylketonuria is a disease caused by a recessive gene that is localized in an autosome. Parents are heterozygous for this gene. They already have two sons with phenylketonuria and one healthy daughter. What is the probability that their fourth child will have the disease too?
A 25%

B 100%

C 75%

D 50%

E 0%
MULTIPLE ALLELES. BLOOD GROUPS INHERITANCE

8. Heterozygous parents with А (II) and В (III) blood groups according to AB0 system gave birth to a child. What is the probability of the child having 0 (I) blood group?
A 25%

B 100%

C 75%

D 50%

E 0%
9. A boy has I (I0I0) blood group and his sister has IV (IAIB) blood group. What blood groups do their parents have?   

A
II (IАI0) and III (IВI0)  

B
II (IАIА) and III (IВI0)  

C
I (I0I0) and IV (IAIB)  

D
III (IВI0) and IV (IAIB)  

E I (I0I0) and III (IВI0)  
10. A woman with ІІІ (B), Rh- blood group born a child with ІІ (A) blood group. The child is diagnosed with hemolytic disease of newborn as a result of rhesus incompatibility. What blood group is the child's father likely to have?   

A
ІІ (A), Rh+  

B
I (0), Rh+  

C
III (B), Rh+  

D
I (0), Rh-  

E II (A), Rh-  

11. A female with Rh-negative blood of A (II) type has a child with AB (IV) type who has been diagnosed with hemolytic disease resulting from Rh- conflict. What blood type may the baby's father have?

A
III (B), Rh-positive

B
I (0), Rh-positive

C
II (A), Rh-positive

D
IV (AB), Rh-negative

E III (B), Rh-negative
12. A woman with A (II), Rh-negative blood had a child with B (III), Rh-positive blood. The child was diagnosed with congenital anaemia of newborns. What is the most likely cause of its development?
A Rhesus incompatibility

B Hereditary chromosomal pathology

C AB0-incompatibility
D Intrauterine intoxication
E Intrauterine infection
13. It is known that the gene responsible for the development of the MN blood groups has two allelic states. If the gene M is considered as the initial gene, the allelic gene N appeared due to:   

A
Mutations

B
Gene combinations   

C
DNA repair   

D
DNA replication   

E
Crossing over   

GENE INTERACTIONS. PLEIOTROPY

14. Cystinuria in humans shows itself in form of cystine stones in kidneys (homozygotes) or else an increased rate of cystine in urine (heterozygotes). Cystinuria is a monogenic disease. Specify the type of interaction between cystinuria genes and normal rate of cystine in urine:   

A
Semidominance (incomplete dominance)
B
Epistasis   

C
Complete dominance   

D
Complementarity  

E Codomination  
15. A person with the fourth blood group (genotype IAIB) has in erythrocytes both antigen A controlled by allele IA and antigen B controlled by allele IB. This phenomenon is an example of the following gene interaction:

A Codominance

B Complementarity

C Semidominance 

D Polymery 

E Epistasis

16. Deaf parents with genotypes DDee and ddEE gave birth to a child with normal hearing. Specify the interaction of D and E genes: 
A Complementary interaction
B Complete dominance
C Epistasis 
D Polymery 
E Overdominance 

17. Human X chromosome contains a dominant gene that is responsible for normal blood clotting. An autosomal dominant gene plays a similar role. Lack of any of these genes leads to the coagulation disorder. The form of interaction between these genes is called:

A
Complementarity

B
Epistasis

C
Polymerism

D
Codominance

E
Pleiotropy

18. A woman with 0 (I) blood group has born a child with AB blood group. This woman's husband has A blood group. What genetic interaction explains this phenomenon? 
A Recessive epistasis 
B Codominance 
C Polymery 
D Incomplete dominance 
E Complementation 
19. Hartnup disease is caused by point mutation of only one gene which results in disturbance of tryptophane absorption in the bowels and its resorption in the renal tubules. It is the reason for disorder of both digestive and urination systems. What genetic phenomenon is observed in this case? 

A
Pleiotropy

B
Complementary interaction

C
Polymery

D
Codominance

E Semidominance (incomplete dominance)
20. An 18-year-old male has been diagnosed with Marfan syndrome. Examination revealed a developmental disorder of connective tissue and eye lens structure, abnormalities of the cardiovascular system, arachnodactylia. What genetic phenomenon has caused the development of this disease?   

A
Pleiotropy   

B
Complementarity   

C
Codominance   

D
Multiple allelism   

E Incomplete dominance   
SEX-LINKED INHERITANCE

75. 21. What type of hemophilia inheritance results in men being affected by hemophilia and in women being carriers of this disease?

A. X-linked recessive

B. Holandric

C. Autosomal recessive

D. X-linked dominant

E. Autosomal dominant

Woman applied to the medico-genetic consulting centre for information about the risk of haemophilia in her son. Her husband has been suffering from this disease since birth. Woman and her parents are healthy (don't have haemophilia). Is the boy likely to have the disease in this family?

A
All boys will be healthy

B
All boys will be ill

C
50% of the boys will be ill

D
25%  of the boys will be ill

E
75%  of the boys will be ill

22. A married couple consulted a specialist at the genetic counseling center about probability of having children with hemophilia. Both are healthy, but the wife’s father has hemophilia. In this family hemophilia may be passed to:

A Half of sons 
B Half of daughters

C All the children

D Both sons and daughters

E Daughters only
23. A couple came for medical genetic counseling. The man has hemophilia, the woman is healthy and there were no cases of hemophilia in her family. What is the risk of having a sick child in this family? 

A 0
B 25% 
C 100% 
D 75% 
E 50% 
24. Enamel hypoplasia is caused by a dominant gene localized in the X chromosome. Mother has a normal enamel, and father has enamel hypoplasia. Which of children will have this anomaly?   

A
Only the daughters

B
All the children   

C
Only the sons   

D
Half of the daughters   
E Half of the sons   
25. Hypertrichosis is the Y-linked character. The father has hypertrichosis, and the mother is healthy. In this family, the probability of having a child with hypertrichosis is:   

A
0,5    

B
0,25    

C
0,125    

D
0,625    

E 1  
26. Hypertrychosis of auricles is caused by a gene that is localized in Y-chromosome. Father has this feature. What is the probability to give birth to a boy with such anomaly? 
A 100% 
B 0% 
C 35% 
D 75% 
E 25%
27. Very big teeth is an Y-linked sign. Mother's teeth are of normal size, and her son's teeth are very big. Probability of father's having very large teeth is:  
A
100%

B
75%

C
50%

D
25%

E 12,5%

VARIATION
28. As a result of iodine deficiency in foodstuffs Transcarpathian people often have endemic goiter. This disease is caused by the following type of variability:    

A Modification

B
Mutational   

C
Combinatorial   

D
Ontogenetic   

E Correlative  
29. A mother had taken synthetic hormones during pregnancy. Her newborn girl presents with excessive hairiness which has formal resemblance to adrenogenital syndrome. This sign of variability is called:   

A
Phenocopy   

B
Mutation   

C
Recombination   

D
Heterosis   

E Replication   

30. Tetracycline taking in the first half of pregnancy causes abnormalities of fetus organs and systems, including tooth hypoplasia and alteration of their color. What type of variability is the child's disease related to?  

A
Modification

B
Combinative  

C
Mutational  

D
Hereditary  

E Recombinant  

31. Fetal malformations can be caused by such maternal diseases as rubella, syphilis, toxoplasmosis, cytomegaly, herpes, and chlamydiosis. These malformations belong to the following type of variability:

A Modification

B Mutational

C Combinative

D Genomic imprinting

E Epimutational

32. A woman got infected with rubella during pregnancy. The child was born with malformations, namely cleft lip and palate. The child's genotype is normal. These malformations are manifestation of:   

A Modification variability

B
Polyploidies   

C
Combinatory variability   

D
Chromosomal mutations   

E Aneuploidies   

33. A woman who was sick with rubella during the pregnancy gave birth to a deaf child with hare lip and cleft palate. This congenital defect is an example of: 

A Phenocopy 
B Down’s syndrome 

C Edward’s syndrome 

D Patau’s syndrome 

E Genocopy
34. A child with a normal karyotype is diagnosed with cleft lip and hard palate, defects of the cardiovascular system, microcephaly. The child’s mother suffered rubella during pregnancy. This pathology in the child may be an example of: 
A Phenocopy 

B Genocopy 

C Trisomy 

D Monosomy

E -
35. A woman who was infected with toxoplasmosis during the pregnancy has a child with multiple congenital defects. This is a result of:

A Teratogenesis 
B Chemical mutogenesis 
C Biological mutogenesis 

D Recombination 

E Cancerogenesis 
36. It is known that the gene responsible for development of blood groups according to AB0 system has three allele variants. If a man has IV blood group, it can be explained by the following variability form:   

A
Combinative   

B
Mutational   

C
Phenotypic   

D
Genocopy   

E Phenocopy  
37. Healthy parents with unremarkable family history have the child with multiple developmental defects. Cytogenetic analysis revealed the trisomy 13 in the somatic cells (Patau syndrome). What phenomenon has caused the defects?   

A
Abnormal gametogenesis  

B
Somatic mutation   

C
Recessive mutation   

D
Dominant mutation   

E Chromosomal mutation   
38. A cell at the stage of mitosis anaphase was stimulated by colchicine that inhibits chromosome separation to the poles. What type of mutation will be caused?   

A
Polyploidy   

B
Inversion   

C
Deletion  

D
Duplication  

E Translocation  

39. Exposure to colchicine resulted in metaphase plate of a human containing 23 chromosomes more than it is normal. Name this mutation: 
A
Polyploidy   

B
Aneuploidy
C
Polyteny
D
Inversion
E Translocation  

40. Parents of a sick 5-year-old girl visited a genetic consultation. Karyotype investigation revealed 46 chromosomes. One chromosome of the 15th pair was abnormally long, having a part of the chromosome belonging to the 21st pair attached to it. What mutation occurred in this girl?
A
Translocation

B
Deletion

C
Inversion

D Insufficiency

E Duplication  

41. In some areas of South Africa there is a spread sickle-shaped cell anemia, in which erythrocytes assume an abnormal sickle shape due to the substitution of glutamic acid by valine in the hemoglobin molecule. What is the cause of this disease?   

A
Gene mutation  

B
Disturbance of mechanisms of genetic information realization   

C
Crossing over   

D
Genomic mutations   

E Transduction  

42. A mutation has occurred in a cell in the first exon of the structural gene. The number of nucleotide pairs changed from 290 to 250. Determine the type of mutation:
A
Deletion

B
Inversion  

C
Duplication  

D
Translocation  

E Nullisomy
43. Part of the DNA chain turned about 180 degrees due to gamma irradiation. What type of mutation took place in the DNA chain?

A
Inversion 

B
Deletion

C
Doubling

D
Translocation

E
Replication  

44. In some areas of South Africa many people have sickle cell disease characterized by red blood cells that assume an abnormal sickle shape due to the substitution of glutamic acid for valine in the hemoglobin molecule. What is the cause of this disease?

A
Gene mutation

B
Disturbances of the mechanisms of genetic information transmission

C
Crossing-over

D
Genomic mutation

E Transduction
45. In a genetic laboratory in course of work with DNA molecules of white rats of Wistar's line a nucleotide was substituted for another one. At that only one amino acid was substituted in the peptide. This result is caused by the following mutation:   

A
Transversion

B
Deletion  

C
Duplication  

D
Displacement of reading frame  

E  Translocation  
46. As a result of treatment of viral RNA with nitrous acid, UCA triplet mutated to UGA triplet. What kind of mutation occurred? 

A Transition 

B Nucleotide deletion 

C Missense 

D Nucleotide insertion 

E Inversion
47. Cytogenetic examination of a patient with reproductive dysfunction revealed normal karyotype 46 ХY in some cells, but most cells have karyotype of Klinefelter's syndrome - 47 ХХY. Such cell heterogenity is called:   

A
Mosaicism   

B
Inversion   

C
Transposition   

D
Duplication    

E Monomorphism
48. Cytogenetic analysis allowed to determine the patient’s karyotype - 47, XY, +21/46, XY. Name this condition: 
A Mosaicism 
B Deletion 
C Translocation 
D Genocopy 
E Phenocopy
PEDIGREE ANALYSIS. TWINS METHOD
76. A certain hereditary syndrome affects teeth, hair, and bones. Each generation has affected individuals. The syndrome occurs equally frequent in men and women. What type of inheritance is it?

A. X-linked dominant

B. Autosomal recessive

C. Y-linked

D. X-linked recessive

E. Autosomal dominant

49. After the genealogy analysis a geneticist came to the conclusion: a feature is manifested in each generation, men and women inherit the feature with equal frequency, parents in the equal way give this feature to their offspring. What type of inheritance does the investigated feature have?

A 
Autosomal-dominant

B 
Х-linked dominant inheritance

C 
Х-linked recessive inheritance

D 
Y-linked inheritance
E 
Autosomal-recessive
50. Genealogical analysis of a child with myotonic dystrophy determined that this disease is present in every generation, equally presented by the relatives of both genders, the risk of inheriting this disease is equal no matter which parent is affected. If one of the parents is heterozygous for this disease and the other parent is healthy, the risk of them giving birth to a sick child is 50%. What type of disease inheritance is it? 

A Autosomal dominant 

B Autosomal recessive 

C X-linked dominant 

D X-linked recessive 

E Y-linked
51. Analysis of the family history of several children with Van der Woude syndrome revealed that in their families one of the parents had the typical for this syndrome defects (cleft lip and palate or lip pits) regardless of gender. What is the type of inheritance of this syndrome? 

A Autosomal-dominant

B Х-linked dominant inheritance

C Х-linked recessive inheritance

DY-linked inheritance

E Autosomal-recessive

52. A genetics specialist analyzed the genealogy of a family and found that both males and females may have the illness, not across all the generations, and that healthy parents may have ill children. What is the type of illness inheritance? 
A Autosomal recessive 
B Y-linked
C X-linked recessive 
D Autosomal dominant 
E X-linked dominant 
53. A man suffering from a hereditary disease married a healthy woman. They got 5 children, three girls and two boys. All the girls inherited their father’s disease. What is the type of the disease inheritance?    

A
Dominant, X-linked  

B
Autosomal recessive  

C
Asutosomal dominant  

D
Y-linked  

E
Recessive, X-linked   

54. Genealogical study of a family with hereditary enamel hypoplasia has revealed that the disease occurs in every generation. In women, the anomaly occurs more frequently than in men. Male patients only pass this trait to their daughters. What type of inheritance takes place in this case?

A
X-linked dominant

B
Autosomal dominant

C
Autosomal recessive

D
Y-linked

E
X-linked recessive

55. A couple has a son with haemophilia. The parents are healthy but the maternal grandfather also has haemophilia. Specify the type of inheritance:   

A
Recessive X-linked   

B
Recessive autosomal   

C
Dominant sex-linked   

D
Y-linked   

E Autosomal dominant 
56. As a result of prophylactic medical examination a 7-year-old boy was diagnosed with Lesch-Nyhan syndrome (only boys fall ill with it). The boy's parents are healthy but his grandfather by mother's side suffers from the same disease. What type of disease inheritance is it?

A
Recessive, sex-linked

B
Dominant, sex-linked

C
Autosomal recessive

D
Autosomal dominant

E Semidominance

57. During a prophylactic medical examination a 7-year-old boy was diagnosed with daltonism (red-green color blindness). His parents are healthy and have normal color vision, but his grandfather on his mother’s side has the same abnormality. What is the type of the abnormality inheritance?

A Recessive, sex-linked

B Semidominance

C Autosomal recessive

D Autosomal dominant

E Dominant, sex-linked

58. A healthy woman has three sons affected by color blindness who were born in her two marriages. Both her husbands are healthy. What is the most possible pattern of inheritance of this disease? 

A X-linked recessive 

B Autosomal recessive 

C Y-linked 

D Autosomal dominant 

E X-linked dominant 
59. The study of the genealogy of a family with hypertrichosis (hairy pinna) has demonstrated that this symptom is manifested in all generations only in men and is inherited by son from his father. What is the type of inheritance? 

A Y-linked chromosome 

B Autosome-recessive 

C X-linked dominant chromosome 

D Autosome-dominant 

E X-linked recessive chromosome
60. A young couple has a child with encephalopathy. A doctor determined this disease to be caused by mitochondrial DNA disorder. In what way are mitochondrial pathologies inherited?
A From mother to all her children 
B From mother to son

C From father to daughter 
D From father to son

E From both parents to all their children
61. If a trait is determined mostly by genetic factors, the percentage of concordance between the twins is much higher in monozygotic twins than in dizygotic ones. What is the percentage of blood group concordance in monozygotic twins?

A
100%

B
75%

C
50%

D
25%

E 0%
CYTOGENETIC METHOD

62. There are trisome, translocational and mosaic forms of Down's Syndrome. What method of human genetics can be applied to differentiate these forms of Down's syndrome?   

A
Cytogenetical

B
Twins method 
C
Genealogical  

D
Biochemical  

E Population-statistical  

63. A 40-year-old pregnant woman underwent amniocentesis. Examination determined the fetal karyotype to be 47, XY+21. What fetal pathology was detected? 

A Down syndrome 
B Patau disease

C Phenylketonuria

D Schereschevsky-Terner disease
E Klinefelter syndrome

64. An individual is characterized by rounded face, broad forehead, a mongolian type of eyelid fold, flattened nasal bridge, permanently open mouth, projecting lower lip, protruding tongue, short neck, flat hands, and stubby fingers. What diagnosis can be put to the patient? 
A Down syndrome 
B Turner syndrome 
C Klinefelter syndrome 
D Supermale 
E Alkaptonuria 
65. Examination of a 7-year-old child revealed the following symptoms: small height, broad roundish face, closely placed eyes with narrow palpebral fissures, half-open mouth. Valvular defect has been also diagnosed. These clinical presentations are most likely typical for Down's syndrome. Name the cause of such pathology:  

A
Trisomy of the 21 chromosome

B
Trisomy of the 13 chromosome  

C
X-chromosome trisonomy  

D
Partial monosomy  

E Nondisjunction of sex chromosomes 
66. A 2-year-old boy is diagnosed with Down syndrome. What chromosomal changes may be the cause of this disease? 

A Trisomy 21 

B Trisomy 13 

C Trisomy X 

D Trisomy 18 

E Monosomy X
67. An 8-month-old child has non-closed palate, a number of eye defects, microcephaly, disorder of cardiovascular system. Cytogenetic analysis revealed 47 chromosomes with an additional 13th chromosome. What diagnosis can be made on the basis of clinical observations and cytogenetic examinations?  

A
Patau syndrome

B
Cat cry syndrome  

C
Edwards  syndrome  

D
Down syndrome  

E
Klinefelter syndrome  

68. Autopsy of a newborn boy revealed polydactylia, microcephalia, cheiloschisis and palatoschisis (uranoschisis) as well as hypertrophy of parenchimatous organs. These defects correspond with the description of Patau syndrome. What is the most probable cause of this pathology?  

A
Trisomy of the 13th chromosome  

B
Trisomy of the 18th chromosome  

C
Trisomy of the 21st chromosome  

D
Nondisjunction of sex chromosomes  

E Partial monosomy  
69. A 45-year-old woman gave birth to a boy with cleft maxilla (cleft lip and palate). On additional examination there are significant disturbances of the boy’s nervous, cardiovascular, and visual systems. Karyotype investigation allowed diagnosing the patient with trisomy 13. What syndrome is present in the boy? 
A Patau 
B  Down 
C Kleinfelter 
D Turner 
E DiGeorge
70. Autosomal nondisjunction had occurred in a woman during meiosis. An ovum with the third copy of the 18th chromosome was formed. The ovum was impregnated by normal spermatozoon. The resulting child will suffer from: 

A Edwards syndrome 
B Klinefelter syndrome 
C Patau syndrome 
D Turner syndrome 
E Down syndrome
71. Sex chromosomes of a woman didn't separate and move to the opposite poles of a cell during gametogenesis (meiosis). The ovum was impregnated with a normal spermatozoon. Which chromosomal disease can be found in her child?   

A
Turner syndrome   

B
Down syndrome   

C
Patau syndrome   

D
Edwards syndrome   

E Cat cry syndrome   

72. Examination of an 18-year-old girl revealed the following features: ovarian hypoplasia, broad shoulders, narrow pelvis, shortening of the lower extremities, "sphinx neck". Mental development is normal. The girl was diagnosed with Turner's syndrome. What kind of chromosome abnormality is it?   

A
Monosomy X    

B
Trisomy X    

C
Trisomy 13    

D
Trisomy 18   

E Nullisomy X   

73. A 25-year-old patient consulted a doctor about dysmenorrhea and infertility. Examination revealed that the patient was 145 cm high and had underdeveloped secondary sex characteristics, alar folds on the neck. Cytological study didn't reveal any Barr bodies in the somatic cells. What diagnosis was made?    

A
Turner syndrome   

B
Klinefelter syndrome    

C
Morris syndrome    

D
Trisomy X syndrome   

E
-Supermale syndrome  

74. Mother and father are healthy. Mother underwent amniocentesis for fetal karyotyping. The fetal karyotype turned out to be 45, XO. What syndrome can be expected in a newborn baby?

A
Turner
B
Edwards
C
Patau
D
Cri du chat

E"Superfemale"
75. A female patient sought medical genetic consultation. Physical examination revealed pterygium colli deformity (webbed neck), broad chest, underdeveloped breasts. Study of buccal epithelium cells revealed no X-chromatin in the nuclei. This indicates that the patient has the following syndrome:

A Turner
B Klinefelter 

C Patau 

D Down 

E Edwards
76. A 35-year-old male patient has been referred by ah andrologist for the genetic counseling for the deviations of physical and mental development. Objectively: the patient is tall, has asthenic constitution, gynecomastia, mental retardation. Microscopy of the oral mucosa cells revealed sex chromatin (single Barr body) in 30% of the cells. What is the most likely diagnosis?
A
Klinefelter syndrome  

B
Down syndrome  

C
 DiGeorge syndrome  

D
 Cushing pituitary basophilism

E Turner's syndrome 
77. A 20-year-old young man with tall stature, asthenic body type, signs of hypogonadism and gynecomastia, and low sperm count (azoospermia) has karyotype 47, XXY. What hereditary syndrome can be characterized by this chromosomal anomaly? 
A Klinefelter syndrome 
B Wiskott-Aldrich syndrome 
C Turner syndrome 
D Louis-Bar syndrome (ataxia-telangiectasia) 
E Down syndrome
78. Medical examination at the military registration and enlistment office revealed that a 15-year-old boy was high, with eunuchoid body proportions, gynecomastia, female pattern of pubic hair distribution. The boy had also fat deposits on the thighs, no facial hair, high voice, subnormal intelligence quotient. Which karyotype corresponds with this disease?   

A
47, XXY  

B
45, XO   

C
46, XX  

D
46, XY  

E47, XXX  

79. A 32-year-old man is tall, he has gynecomastia, adult woman pattern of hair distribution, high voice, mental deficiency, sterility. Provisional diagnosis is Klinefelter's syndrome. In order to specify diagnosis it is necessary to analyze:
A Karyotype


B Genealogy

C Blood group

D Spermatogenesis

E Leukogram
80. A boy referred to a genetics clinic was found to have 1 drumstick in blood neutrophils. 
A Klinefelter
B Down
C Turner
D Edwards
E Trisomy X
81. Sex chromatin was detected during examination of a man’s buccal epithelium. It is characteristic of the following chromosome disease:
A Klinefelter
B Down
C Turner
D Edwards
E Trisomy X
82. X-chromatin test of somatic cells is used for quick diagnostics of hereditary diseases caused by variations of sex chromosomes number. What is the karyotype of a male, whose cells mostly contain one X-chromatin body?
A 47, ХХY

B 45, Х0

C 46, ХY

D 48, ХХХY

E 49, ХХХХY
83. A 28-year-old female patient consulted a gynecologist about sterility. Examination revealed underdeveloped ovaries and uterus, irregular menstrual cycle. Analysis of the sex chromatin revealed 2 Barr’s bodies in most somatic cells. What chromosome disease is most likely?   

A
Triple X syndrome

B
Edwards' syndrome  

C
Patau syndrome  

D
Klinefelter syndrome  

E
Turner syndrome  

84. According to the phenotypic diagnosis a female patient has been provisionally diagnosed with X-chromosome polysomy. This diagnosis can be confirmed by a cytogenetic method. What karyotype will confirm the diagnosis?   

A
47(ХХХ)  

B
48(XXXY)   

C
48(XXYY)    

D
47(XXY)   

E 46(XX) 
85. When examining a female patient a doctor observed the following: misshapen auricles, elevated palate, teeth growth disorder; mental retardation; no disruption of reproductive function. Provisional diagnosis is the "super woman"syndrome. Point out the karyotype of this disease:
A (47, ХXХ)

B (47, ХXY)

C (47, YYY)

D (47, ХYY)

E (45, Х0)
86. Analysis of amniotic fluid that was obtained as a result of amniocentesis (puncture of amniotic sac) revealed cells the nuclei of which contain sex chromatin (Barr's body). What can it be evidence of? 
A Development of female fetus 
B Genetic disorders of fetus development 
C Development of male fetus
D Trisomy 
E Polyploidy 
87. Amniocentesis revealed two sex chromatin (Barr bodies in each cell of the sample. What disease is this character typical for?
A
Trsomy X 

B
Down syndrome  

C
Patau syndrome  

D
Klinefelter syndrome  

E Turner syndrome 

BIOCHEMICAL METHOD
88. A patient was diagnosed with a monogenic hereditary disease. Name this disease: 
A Hemophilia 

B Hypertension 

C Peptic ulcer disease of the stomach 

D Poliomyelitis 

E Hymenolepiasis
89. Healthy parents have got a fair-haired, blue-eyed girl. Irritability, anxiety, sleep and feeding disturbance developed in the first months of the infant's life. Neurological examination revealed developmental lag. What method of genetic investigation should be used for the exact diagnosis? 
A
Biochemical

B
Cytological

C
Twin

D
Genealogical

E Population-statistical

90. A 1.5-year-old child was taken to the hospital. The examination revealed dementia, disorder of motor functions regulation, hypopigmentation of skin, high rate of phenylalanine in blood. What is the most probable diagnosis?   

A
Phenylketonuria

B
Galactosemia   

C
Tyrosinosis  

D
Down's syndrome   

E Mucoviscidosis   

91. Examination of cell culture got from a patient with lysosomal pathology revealed accumulation of great quantity of lipids in the lysosomes. What of the following diseases is this disturbance typical for?   

A
Tay-Sachs disease  

B
Gout  

C
Phenylketonuria  

D
Wilson disease  

E Galactosemia  

92. Blood of a child and putative father was referred to forensic medical examination for affiliation. What chemical components should be identified in the blood under study?   

A
DNA

B
Transfer RNA  

C
Ribosomal RNA  

D
Messenger RNA   

E
SnRNA   

93. A patient was diagnosed with a monogenic hereditary disease. Name this disease:
A Hemophilia

B Peptic ulcer

C Hymenolepiasis

D Hypertension

E Poliomyelitis
94. A married couple came for a genetic counseling. The husband suffers from insulin-independent diabetes mellitus, while the wife is healthy. What is the probability of their child developing insulin-independent diabetes mellitus?
A Higher than in the population 
B The same as in the population 
C Lower than in the population 
D 100% 
E 50%
CONTENT CHAPTER 3
1. As an example of specific human parasites one can name Plasmodium falciparum, human pinworm and some others. The source of parasite invasion is always a human. Such specific human parasites cause the diseases that are called: 

A Anthroponoses 

B Zoonoses 

C Anthropozoonoses 

D Infections 

E Multifactorial diseases
PROTOZOA

2. Patients with similar complaints applied to the doctor: weakness, pain in the intestines, disorder of GIT. Examination of the faeces revealed that one patient with four nucleus cysts should be hospitalized immediately. For what protozoa are such cysts typical?

A
Dysenteric amoeba

B
Intestinal amoeba

C
Balantidium

D
Trichomonas

E
Lamblia
3. Several patients with similar complaints came to the doctor. They all present with weakness, pain in the intestines, indigestion. Feces analysis revealed the need for urgent hospitalization of the patient, who had microbial cysts with four nuclei detected in his samples. Such cysts are characteristic of the following protozoon:
A Entamoeba histolytica

B Balantidium coli

C Entamoeba coli 

D Trichomonas hominis

E Lamblia intestinalis
4. A 40-year-old patient presents with abdominal pain, frequent loose stools with mucus and blood. Stool analysis revealed vegetative forms of some protozoa sized 30-40 microns, with short pseudopodia, containing large amounts of phagocytosed erythrocytes. What protozoan disease does the patient have?

A Amebiasis

B
 Trichomoniasis 

C
 Leishmaniasis  

D Giardiasis
  

E
Toxoplasmosis  

5. A patient with suspected liver abscess was admitted to the surgical department. The patient had been staying for a long time on business in one of African countries and fell repeatedly ill with acute gastrointestinal disorders. What protozoan disease may the patient be now ill with?   

A
Amebiasis

B
Trypanosomosis  

C
Leishmaniasis  

D
Malaria  

E
Toxoplasmosis  

6. Patient complains about weakness, high temperature, diarrhea 10-12 times per day, acute abdominal pain. Microscopic examination of feces demonstrated 4-nucleated oval structures.  It can be caused by parasitizing of:

A
Entamoeba histolytica  

B
Leishmania donovani  

C
Trypanosoma gamdiense  

D
Entamoeba coli  

E
Toxoplasma gondii  
7. A patient complains of frequent bowel movements and stool with blood admixtures (”raspberry jelly” stool). Microscopic examination revealed large mononuclear cells with absorbed red blood cells. What protozoon is this morphological structure typical of?
A
Entamoeba histolytica  

B
Giardia lamblia
C
Campelobacter jejuni
D
Balantidium coli  

E
Toxoplasma gondii  
8. Asymptomatic cyst carrying when clinically healthy people serve as the source of cysts and can infect other people some times is revealed during the examination of the food-handling personal by doctors of the sanitary-epidemiological station. This is possible in case of parasitizing:
            A  Dysenteric amoeba
B
 Malarial plasmodia 

C
 Balantidium

D
 Intestinal trichomonas

E
 Lamblia

9. Spherical 4 nucleated cysts about 10 micrometers in diameter with were found in the feces of a patient with chronic colitis (inflammation of the colon). Cysts of which protest were detected? 
A
Dysenteric amoeba

B
Intestinal amoeba

C
Balantidium

D
Oral amoeba 

E
Giardia
10. Carious cavities of a 29-year-old patient contain the parasitic protozoa. It is established that they relate to the Sarcodina class. Specify these single-celled organisms:

A
Entamoeba gingivalіs

B
Entamoeba coli
C
Entamoeba histolytica
D
Amoeba proteus
E
Lamblia intestinalis
11. Microscopy of dental plaque revealed unicellular organisms. Their cytoplasm had two distinct layers, barely visible core, wide pseudopodia. The patient is most likely to have:
A Entamoeba gingivalis

B Lamblia
C Trichomonas tenax
D Entamoeba histolytica
E Entamoeba coli
12. Single-celled organisms were found during the microscoping of dental plaque of the patient in stomatologic department. The cytoplasm of the protozoan is distinctly divided into two layers, the nucleus is hardly visible, pseudopodia are wide. Which protozoan was found? 

A Oral amoeba 
B Giardia 
C Oral trichomonas 
D Dysentery amoeba 
E Intestinal amoeba 
13. Child has neurotic symptoms: dizziness, weakness, headaches, which are accompanied by nausea, pain in the right hypochondrium, a frequent urge for defecation. Examination of duodenal contents revealed some pyriform protozoa with two nuclei and four pairs of flagella. There were two supporting filaments between the nuclei and a suctorial (sucking) disc on the ventral side. What representative of protozoa was revealed in this patient?   

A
Lamblia   

B
Toxoplasma   

C
Leishmania   

D
Intestinal trichomonas   

E
Trypanosome   

14. Patient is 7 years old. He has intestinal disease, which is accompanied by weakness, poor appetite, diarrhea, abdominal pain, nausea. Flagellated pear-shaped trophozoites with 2 nuclei anbd 4 flagella were found during the examination of duodenal contents. What disease it can be? 

A Giardiasis 
B Visceral leishmaniasis 
C Trichomoniasis 
D Toxoplasmosis 
E Malaria

15. A patient with inflammation of the biliary tract has been admitted to the gastroenterological department. Motile pear shaped protists with double nucleus and axostyle were found in portions of bile. Which protozoan disease is diagnosed in a patient? 

A Giardiasis 
B Intestinal amebiasis 
C Balantidiasis 
D Trichomoniasis 
E Amoebic dysentery
16. A gynaecologist was examining a patient and revealed symptoms of genital tract inflammation. A smear from vagina contains pyriform protozoa with a spine, flagella at their front; there is also an undulating membrane. What disease can be suspected?   

A
Urogenital trichomoniasis  

B
Lambliasis  

C
Intestinal trichomoniasis  

D
Toxoplasmosis  

E
Balantidiasis  

17. A patient has symptoms of inflammation of urogenital tracts. Examination of a vaginal smear revealed big monocellular, pear-shaped organisms with the pointed spike at the posterior end of body, big nucleus and undulating membrane. What protozoa were found in the smear?  

A
Trichomonas vaginalis   

B
Trichomonas hominis   

C
Trichomonas buccalis   

D
Trypanosoma gambiense   

E  Lamblia intestinalis   
18. Microscoping of a discharge from the gums of a patient suffering from periodontal disease demonstrated the pear shaped protozoans of 6 to 13 μm in size.  Parasites have one nucleus, 4 flagella on the anterior end, undulating membrane. Which protozoa were found in the patient?

A Trichomonas 
B Leishmania
C Amoeba
D Balantidium 
E Giardia

19. A person has a skin ulcer that appears after the bite of a sand fly. Microscopic analysis of the ulcer content demonstrated intracellular non-flagellated single-celled organisms. What is the suspected diagnosis?
A Cutaneous leishmaniasis 
B Balantidiasis 
C Toxoplasmosis 
D Visceral leishmaniasis 
E Trypanosomiasis
20. A group of Ukrainian tourists brought gerbils from Samarkand. During the examination of the animals’ skin at the customs were found ulcers. Which protozoan is the most likely causative agent of the disease of the animals?

A Leishmania tropica major 
B Balantidium coli 
C Plasmodium falciparum 
D Trypanosoma cruzi 
E Toxoplasma gondii

21. A patient asked for doctor about round non-healing ulcers on the face skin. He recently returned from Turkmenistan. The doctor suspected cutaneous leishmaniasis. What is the mechanism of transmission of this disease?
A Vector-Borne
B Air-borne
C Through the household contacts 
D Fecal-oral
E Alimentary
22. Rodents are the reservoir of leishmaniases - natural focal diseases with vector-born mechanism of transmittion. If the person is in the focus of leishmaniasis, he should avoid bites of the: 
A Sand flies
B Fleas 
C Mites 
D Mosquitoes 
E Tsetse flies

23. Parents with ill child came to the infectionist. They worked in one of the Asian countries for a long time. Child has earthy colored skin, loss of appetite, laxity, enlarged liver, spleen, peripheral glands. What protozoan illness can this child have?

A
Visceral leishmaniasis 

B
Balantidiasis

C
Amebiasis

D
Toxoplasmosis

E
Lambliasis

24. A businessman came to India from South America. On examination the physician found that the patient was suffering from Chagas disease. What was the way of invasion? 

A As a result of bug's bites 
B With contaminated fruits and vegetables 

C As a result of mosquito's bites 

D After contact with sick dogs 

E Through dirty hands
25. In the South and Central America there can be found a species of trypanosomes that is the causative agent of Chagas disease. What animal is the infection carrier specific to this disease? 
A Triatomine bug 

B Cockroach 

C Tsetse fly 

D  Mosquito 

E Gnat
26. The antelopes were delivered to the Kyiv zoo from Africa. Trypanosoma brucei gambiense were in their blood. Are these animals of epidemiological danger? 

A No epidemiological danger
B Danger for human 
C Harmful for animals and humans 
D Danger for other antelopes
E Danger only for predators

27. A patient who has recently come from an endemic area presents with elevated body temperature, headache, chills, malaise, that is with the symptoms which are typical for a common cold. What laboratory tests are necessary to confirm or to refute the diagnosis of malaria?    

A
Microscopy of blood smears    

B
Study of lymph node punctate    

C
Urinalysis    

D
Study of cerebrospinal fluid    

E
Microscopy of bone marrow punctate   

28. 2 weeks since the blood transfusion a recipient has developed fever. What protozoan disease can it be?

A  Malaria 
B Trypanosomiasis
C Amebiasis

D Toxoplasmosis

E Leishmaniasis

29. A patient is complaining of a headache, pain in left hypochondrium. The disease began acute with increasing of the temperature up to 40oC. The attacks were repeated periodically after 48 hours. Determine the possible causative agent of the disease. 

A Agent of benign tertian malaria

B Agent of malignant malaria
C Agent of quatrain malaria
D Toxoplasma 
E Trypanosome
30. The female during the childbirth were transfused the blood from donor, who had arrived from Angola. Two weeks later she developed fever. What laboratory investigation should be used to confirm or exclude the diagnosis of malaria? 

A To study thin and thick blood films for demonstration the erythrocytic stages of the pathogen.
B To study leukocyte formula 
C To isolate the causative agent by cultivating on the nutritive medium. 
D To isolate the causative agent in laboratory animals 
E To study aspiration material of the lymph nodes

31. The patient experiences a typical attack of malaria with cold, hot and sweating stages. Which stage of the malaria parasite is likely to be detected in the patient's blood at the time?

A Merozoite
B Schizont
C Sporozoite
D Sporocyst
E Ookinete
32. In some regions of Ukraine local cases of malaria spread. Which insects are that confined to?

A Mosquitoes of the genus Anoрheles 
B Sand flies of the genus Phlebotomus 
C Midges of the genus Simullium 
D Mosquitoes of the genus Culex
E Horseflies of family Tabanidae
33. A puncture sample taken from the lymph node of a patient with preliminary diagnosis of protozoan disease has been investigated. The preparation was processed with Giemsa stain and the following was detected: crescent-shaped bodies with pointed tips, blue cytoplasm and red nuclei. What protozoa have been detected in the preparation?
A
Toxoplasma  

B
Malarial plasmodium  

C
Dermotropic leishmania  

D
Viscerotropic leishmania  

E
Trypanosomes  

34. A woman delivered a dead child with multiple developmental defects. What protozoan disease might have caused the intrauterine death?   

A
Toxoplasmosis

B
Leishmaniasis  

C
Malaria   

D
Amebiasis  

E
Lambliasis  

35. Examination of a man revealed a protozoan disease that affected brain and caused vision loss. Blood analysis revealed unicellular half-moon-shaped organisms with pointed end. The causative agent of this disease is:   

A
Toxoplasma

B
Leishmania  

C
Lamblia  

D
Amoeba  

E  Trichmonas   
36. A woman gave birth to a dead child with multiple defects. Which protozoan disease could result in intrauterine fetal death?

A Toxoplasmosis 
B Amoebiasis
C Malaria 
D Leishmaniasis 
E Giardiasis

37. A person has a preliminary diagnosis of toxoplasmosis. What material is used for laboratory diagnosis of the disease?

A Blood 
B Faeces 
C Urine 
D Duodenal contents 
E Sputum

38. The family came for medical-genetic consultation because of the birth of a child with multiple malformations (microcephaly, idiocy, etc). Woman during pregnancy was ill, but didn’t contact with any mutagens and teratogens. The karyotype of the parents and child is normal. Doctor have cleared that family keeps the cat. What could be the likely cause of the child affection?

A   While pregnant woman  was sick with toxoplasmosis
B   While pregnant woman  was sick with leishmaniasis
C   While pregnant woman was sick with dysentery
D   While pregnant woman was sick with balantidiasis
E   While pregnant woman was sick with trichomoniasis

39. Slime, blood and protozoa 30-200 microns long have been revealed in a man's faeces. The body is covered with cilia and has correct oval form with a little bit narrowed anterior and wide round shaped posterior end. At the anterior end a mouth is visible. In cytoplasm there are two nuclei and two short vacuoles. What are the described features typical for? 
A Balantidium 
B Lamblia
C Trichomonas 
D Dysenteric amoeba 
E Intestinal amoeba 
40. A patient working at a pig farm complains about paroxysmal abdominal pain, liquid feces with admixtures of mucus and blood, headache, weakness, fever. Examination of large intestine revealed ulcers from 1 mm up to several cm large, feces contained oval unicellular organisms with cilia. What disease should be suspected?   

A
Balantidiasis   

B
Amebiasis   

C
Toxoplasmosis   

D
Lambliasis   

E Trichomoniasis   
41. Sanitary assessment of a pond, where the children from a recreation summer camp take their swims, detected there oval cysts 50-60 micron in diameter, with 2 nuclei visible in their cytoplasm (macronucleus and micronucleus). What protozoa do these cysts belong to 
A Balantidium

B Lamblia

C Toxoplasma

D Amoeba

E Euglena 

FLATWORMS
42. A hunter was drinking raw water from a pond. He risks infection with following trematodiasis:

A Fascioliasis

B Clonorchiasis

C Dicroceliasis

D Paragonimiasis

E Opisthorchiasis
43. The patient was diagnosed fascioliasis after the laboratory examination. He could become infected by consuming: 

A  Non-boiled water from the pond
B Crawfish
C Infected fish 
D Infected liver 
E Infected meat
44. A male patient has fever and enanthesis. As a result of the examination involving serological tests he has been diagnosed with fasciola hepatica. It was found out that the patient had been infected through raw river water. Which stage of fasciola life cycle is invasive for humans? 
A Adolescaria 
B Ovum 
C Cysticercus 
D Miracidium
E Metacercaria 
45. A patient complains of pain in the area of his liver. Duodenal intubation revealed yellowish, oval, narrowed at the poles eggs with an operculum at the end. Size of these eggs is the smallest among all helminthes eggs. What is the most probable diagnosis?   

A
Opisthorchosis  

B
Teniasis  

C
Beef tapeworm infection  

D
Echinococcosis  

E
Diphyllobothriasis  
46. Small operculated eggs were found during the coprologic test (laboratory analysis of feces) of a patient. It is known that the patient consume fish often. Which trematode possibly parasitizes? 

A
Cat fluke

B
Blood fluke

C
Lung fluke

D
Liver fluke

E Lancelet fluke 
47. The patient while coughing expels rusty-brown sputum, in which oval, golden-brown eggs about 0.1 mm the size are determined. What is the diagnosis? 
A Paragonimiasis
B Schistosomiasis 
C Fascioliasis 
D Opisthorchiasis 
E Dicroceliasis
48. A patient has been preliminarily diagnosed with paragonimiasis. This disease is caused by lung flukes. The causative agent entered into the patient's body through:  

A
Eating half-cooked crawfish and crabs

B
Eating unwashed vegetables   

C
Contact with an infected cat   

D
Eating half-cooked or dried fish   

E
Drinking raw water from open reservoirs   

49. The examination of a foreigner revealed intestinal schistosomiasis. How could the patient be infected?

A During river swimming 
B While eating meat

C While eating fish
D Through dirty hands

E Through insects bites
50. A young woman, a foreign student from Tehran, has made an appointment with the urologist. She complains of the sensation of heaviness in her lower abdomen and a small amount of blood being excreted with urine at the end of each urination. Microscopy of urine detects the presence of parasite eggs, approximately 140х70 micron in size, with a terminal spike. What diagnosis can be made by the infectious diseases specialist?
A Schistosomiasis

B Opisthorchiasis

C Dicroceliasis

D Paragonimiasis 

E Fascioliasis
51. A man visited Lebanon. Soon after return he felt pain and heaviness in the peritoneum and suprapubic region. On examination he was diagnosed with urogenital schistosimiasis. In what way could he become infected?
A By swimming in contaminated water

B By eating unwashed fruit and vegetables

C By eating undercooked meat of cattle

D By eating insufficiently salted fish
E By eating undercooked meat or crayfish and crabs

52. A patient consulted an urologist about pain during urination. Analysis of his urine taken in the daytime revealed eggs with a characteristic sharp point. It is known from the anamnesis that the patient has recently returned from Australia. What is the most likely diagnosis?    

A
Urogenital schistosomiasis   

B
Intestinal schistosomiasis  

C
Japanese schistosomiasis  

D
Opisthorchiasis  

E   Dicroceliasis  
53. Father bought some pork at the market. What disease may catch members of his family provided that this meat didn't pass the veterinary control?  

A
Pork tapeworm infection

B
Beef tapeworm infection  

C
Hymenolepiasis  

D
Echinococcosis  

E Liver fluke infection  
54. Helminth about 2 meters in length was expelled with feces during the specific treatment. The body is segmented, with a small head, which bears four suckers and hooks. Determine the species of the helminth

A Armed tape worm
B Unarmed tape worm 

C Dwarf tapeworm
D Echinococcus
E Broad tapeworm

55. Gravid immotile segments of the tapeworm are detected in the faeces of the patient with digestive disorders; the uterus in the segments has 7-12 lateral branches. Which helminthes it?
A Armed tape worm
B Unarmed tape worm 

C Dwarf tapeworm
D Echinococcus
E Broad tapeworm
56. During dehelmintization there was a 3,5-meter-long tapeworm produced from the patient’s intestine.There are 4 suckers and hooks on the tapeworm’s scolex. Mature segments of the tapeworm are immobile and have up to 12 uterine branches. What disease is it?
A Teniasis

B Echinococcosis 

C Beef tapeworm infection

D Diphyllobothriasis 

E  Opisthorchiasis

57. Cysticerci were found in brain tissue of the women during the section. The cause of death was determined the brain cysticercosis. Which parasite caused this disease? 
A Taenia solium 
B Taeniarhynchus saginatus 
C Fasciola hepatica 
D Hymenolepis nana 
E Alveococcus multilocularis 
58. A 35-year-old-man who lost his sight in one eye has been admitted to the hospital. From the life history it is known that the patient like to eat half-raw pork skewers. After X-ray and an immunological studies doctor diagnosed cysticercosis. Which helminth is the causative agent of this disease?
A Taenia solium 
B Taeniarhynchus saginatus 
C Fasciola hepatica 
D Hymenolepis nana 
E Alveococcus multilocularis 
59. A 26-year-old female consulted a doctor about having stool with white flat moving organisms resembling noodles. Laboratory analysis revealed proglottids with the following characteristics: long, narrow, with a longitudinal channel of the uterus with 17-35 lateral branches on each side. What kind of intestinal parasite was found? 
A Taeniarhynchus saginatus
B Taenia solium
C Hymenolepis nana
D Diphyllobothrium latum
E Echinococcus granulosus
60. In case of some helminthiasis an affected person can detect helminthes himself because mature segments of the causative agent are able to crawl out of the anus. This is typical for following disease:

A Beef tapeworm infection

B Pork tapeworm infection

C Bothriocephalosis

D Hymenolepiasis

E Echinococcus 
61. The guide of the scientific expedition in India was native who always was with his dog. What invasive diseases can be transmitted by the dog if it is the source of invasion?  

A
Echinococcosis

B
Teniasis

C
Paragonimiasis

D
Dicroceliasis

E Fascioliasis
62. A shepherd who has tended sheep together with dogs consulted a doctor about pain in his right subcostal area, nausea, vomiting. Roentgenoscopy revealed a tumor-like formation. What kind of helminthiasis might be suspected?   

A
Echinococcosis   

B
Ascaridiasis    

C
Enterobiasis   

D
Taeniarhynchosis   

E Taeniasis   

63. Conglomerate of tightly joined small bubbles with small amount of fluid was found in the liver of a patient during the surgical treatment. Which helminthiasis is found in the patient?
A Alveococcosis 
B Clonorchiasis
C Opisthorchiasis
D Dicroceliasis
E Fascioliasis 
64. A concerned mother addressed a pediatrician with complaints of her child suffering from frequent stomachaches, loss of appetite, nausea, constipation. Feces analysis detected rounded eggs with double capsules and oncospheres localized in their centers. The child was diagnosed with hymenolepiasis. Specify the type of infection transmission, considering that the invasion intensity was extremely high:

A Autoinvasion 

B Alimentary 

C Sexual

D Contamination 

E Immediate contagion

65. Long segmented fragments of a certain helminth were detected in a patient after the treatment.  Width of the segments exceeds the   length; rosette-like structure is situated in the centre of the segments. Determine the species of helminth. 
A Broad  tape worm
B Armed tape worm
C Unarmed tape worm
D Alveococcus 
E Dwarf tapeworm 
66. The patient complains of loss of appetite, nausea, vomiting. B12 deficient anemia is detected. Which parasite that inhabits small intestines can cause this pathology?
A Broad  tape worm
B Dwarf tapeworm 

C Echiniciccus

D Alveococcus 
E Whip worm

67. A female patient consulted a physician about digestive disorder, extended abdominal pain. Examination revealed drastic decrease in hemoglobin concentration. It is known from the anamnesis that while living in the Far East the patient used to eat freshly-salted caviar. Some relatives living with her had the similar condition. What is the most likely diagnosis?   

A
Diphyllobothriasis   

B
Echinococcosis  

C
Teniasis  

D
Trichiniasis  

E Ascaridiasis
68. During dehelmintization a patient expelled long fragments of a segmented helminth. In some segments their width exceeds their length; there is a rosettelike uterus in the segment center. Name the helminth: 
A Diphylobotrium latum 
B Taenia solium 
C Taeniarhynchus saginatus 
D Echinococcus 
E Hymenolepis nana  
69. A patient has been hospitalised with provisional diagnosis of diphyllobothriasis. What food products can be the cause of this condition? 
A Fish 
B  Pork 
C Beef 
D Milk and eggs
E  Fruit and vegetables
ROUNDWORMS

70. The sick child periodically has liquid stools, sometimes pain in the abdomen, nausea, vomiting. Mother says that once spindle-shape helminth about 25 cm in size comes out with the vomited mass. Which helminthiasis can be suspected:
A Ascariasis 
B Trichocephalosis 
C Enterobiasis 
D Dracunculosis 
E Trichinellosis 
71. The patient complains of indigestion, abdominal pain, drowsiness. Similar symptoms manifested before. Tuberous oval eggs (oval eggs covered with lumpy capsules) were found in the feces of the patient during the laboratory tests. Determine the possible cause of the health disorder: 
A Ascariasis
B Trichocephalosis 
C Diphyllobothriasis
D Enterobiasis 
E Fascioliasis
72. Yellow-brown eggs with tuberous shell were detected in the smear of the feces of a school child. Which helminth these eggs belong to? 
            A Ascaris
            B Pin worm
            C Whip woprm
            D Dwarf tapeworm 
            E Broad tapeworm

73. Larvae were detected occasionally on the microscopic examination of the sputum of the patient with pneumonia. Eosinophiles were detected on the blood examination. What helminthiasis can be diagnosed?

A
Ascariasis

B
Enterobiosis

C
Trichocephaliasis

D
Paragonimiasis  

E
Opistorchiasis

74. A patient consulted a physician about chest pain, cough, and fever. Roentgenography of lungs revealed eosinophylic infiltrates, further investigation of which allowed to detect presence of larvae. What helminthiasis is it characteristic of?
A
Ascariasis

B
Cysticercosis

C
Echinococcosis

D
Trichinosis

E
Fascioliasis

75. A man with signs of intestinal obstruction was delivered to a hospital. In the process of treatment , roundworms 25 – 40 cm in size were extracted from the patient’s intestine. Determine the species of this helminth:
A
Ascaris lumbricoides 
B
Enterobins vermicularis
C
Ancylostoma duodenalis

D
Trichinela spiralis

E Trichuris trichiura
76. A 10-year-old child complains of weakness, nausea, irritability.   Helminthes of white color and 5-10 mm long were found on the underwear. On microscopy of the scrape from the perianal folds achromic ova of the unsymmetrical form were revealed. Indicate what helminth is parasiting on the child?

A
Enterobins vermicularis 
B
Ascaris lumbricoides
C
Ancylostoma duodenalis

D
Strongyloides stercoralis
E Trichocephalus trichiura
77. In the perianal folds of a 5-year-old girl her mother has found some white "worms" that caused itch and anxiety in the child. The "worms" were sent to the laboratory. During examination the physician saw white filiform helminths 0,5-1 cm long, with pointed ends, some helminthes had twisted ends. What is the most likely diagnosis?   

A
Enterobiasis  

B
Diphyllobothriasis  

C
 Teniasis  

D
 Ascaridiasis  

E  Opisthorchiasis  

78. During regular examination of schoolchildren it was revealed that a 10 year old girl had asymmetric oval eggs 50х23 μm in size with a larva in the scrape from her perianal folds. What diagnosis should be made?   

A
Enterobiasis   

B
Ascariasis   

C
Amebiasis   

D
Trichocephalosis  

E Ankylostomiasis  
79. Microscopy of perianal folds scrape has revealed colourless eggs in the shape of asymmetrical ovals sized 50x23 micrometers. Name the kind of helminth.
A Pin worm (Enterobius)

B Ascarid (Ascaris lumbricoides)

C Hookworm (Ancylostoma duodenale)

D Whipworm (Trichuris)

E Dwarf tapeworm (Hymenolepis nana)
80. A child complains of general weakness, loss of appetite, a troubled sleep, itching in the perianal area. The provisional diagnosis is enterobiasis. In order to specify this diagnosis it is necessary to perform:  

A
Scraping from perianal folds  

B
Roentgenoscopy  

C
Biopsy of muscle tissue  

D
Immune diagnostics  

E Duodenal contents analysis  
81. A 15-year old girl has been admitted to the hospital with appendicitis. Blood tests demonstrated the signs of anemia. Lemon-shaped eggs 50x30 microns in size with corks at the poles were found in the feces. Which helminth parasitizes in the patient?
A Whip worm
B Echinococcus
C Hookworm
D Dwarf tapeworm
E Pin worm
82. The patient complains about the general weakness, headache, nausea, loose stools with admixture of mucus and blood. Microscopic examination of feces demonstrated barrel-shape eggs of the helminth. Put the preliminary diagnosis: 
A Trichocephaliasis
B Ancylostomiasis
C Enterobiasis 
D Ascariasis
E Necatorosis

83. A miner consulted a physician about the appearance of the body rash followed by a loss of appetite, bloating, duodenal pain, frequent bowel movements, dizziness. Ovoscopic probes of feces and duodenal contents revealed some eggs covered with transparent membrane through which 4-8 germinal cells could be seen. What disease is likely to have occurred in the patient?

A
Ancylostomiasis

B Strongyloidiasis  

C
Enterobiasis

D
Hymenolepiasis

E Trichocephaliasis  

84. Several days after consumption of smoked pork a patient got face and eye-lid edemata, gastrointestinal disturbances, abrupt temperature rise, muscle pain. Blood analysis showed full-blown eosinophilia. What helminth could the patient be infected with?   

A
Trichina  

B
Pinworm  

C
Ascarid  

D
Whipworm  

E Hookworm  

85. Patient has been admitted to the hospital with a preliminary diagnosis of trichinosis. Eating of which food can cause this disease?

A Pork
B Beef
C Fish 
D Crayfish and crabs 
E Unwashed vegetables and fruits 
86. In the hunter who ate the meat of wild boar, 10 days after temperature raised greatly, face swollen, rigidity of masticatory muscles appeared. Capsules with spirally twisted larvae were found during the biopsy of calf muscles. Which disease is suspected?

A Trichinosis 
B Hymenolepiasis 
C Enterobiasis 
D Trichocephaliasis 
E Strongiloidosis

87. The doctor takes history of the disease in several residents of a village with the same symptoms as swelling of the eyelids and face, strong muscle pain, fever, and headaches. All patients three weeks ago were guests at the wedding and ate pork. The doctor suspects trichinellosis. What method will help to confirm the diagnosis?

A Immunological 
B Ovohelminthoscopy
C Blood test
D Urine analysis 
E Sputum analysis
88. Certain measures for social prevention of the helminthosis which is characterized with seizures and swelling of the face were proposed. Among them special attention was paid to the prohibition of eating infected pork, even after heat treatment. What helminthiasis is it?
A Trichinellosis 
B Tapeworm infection
C Ascariasis
D Echinococcosis 
E Alveococcosis
89. In one of Polessye regions there was an outbreak of helminthiasis manifested by cramps and facial edemas. The developed preventive measures in particular included ban for eating infested pork even after heat processing. What helminthiasis was the case? 

A Trichinosis 

B Taeniarhynchosis 

C Teniasis 

D Echinococcosis 

E  Alveococcosis

90. A man has worked in an African country for 3 years. A month after his return to Ukraine he consulted an ophthalmologist and complained about eye ache, eyelid edema, lacrimation and temporary visual impairment. Underneath the eye conjunctiva the doctor revealed helminths 30-50 mm long with elongated filiform body. What diagnosis might be suspected?   

A
Filariasis   

B
Diphyllobothriasis  

C
Ascaridiasis  

D
Enterobiasis  

E Trichocephaliasis  

ARTHROPODES
91.  During their expedition to the Middle East, the students found a 7-centimeter-long arthropod. Its body consists of cephalothorax with 4-pairs of ambulatory legs and segmented abdomen with two venom glands in its last segment. The gland openings are located on the tip of the hook-shaped sting. The animal was identified as nocturnal predator, its venom is dangerous for humans. It belongs to the following order:

A Scorpiones

B Aphaniptera

C Acarina

D Solpugae

E Aranei

92. While on holiday in the countryside a boy found a spider with the following morphological peculiarities: body length of 2 cm, round black abdomen with two rows of red dots on its dorsal surface, four pairs of segmented extremities covered with tiny black hairs. Identify this arthropod:

A
Karakurt spider  

B
Scorpion  

C Solifugae
D
Mite  

E Tarantula  

93. After a thorough examination the patient who had returned from Central Asia to Ukraine was diagnosed with spring-summer encephalitis. Its pathogen might have entered the body through the bite of the following arthropod:   

A
Dog-tick 
B
Taiga tick   

C
Argasid tick (Ornithodorus papillipes)   

D
Itch mite   

E Mosquito  

94. The man who returned from the spring expeditions of discovery suffers from weakness, nausea, insomnia, increased body temperature, signs of paralysis of the muscles of the neck and shoulder area. From an anamnesis it is known, that he had been bitten by ticks. Spring-summer encephalitis was diagnosed. What is the way of infection transmission?

A Vector-Borne 
B Per cutaneous 
C Fecal-oral 
D Sexually-transmitted
E Through the household contacts 
95. A 40-year-old man who lives in a mud house came to the lab. He found arthropods with dark gray oval body and slightly pointed anterior end in the crevices of the apartment. Mouthparts are in deepening on the ventral surface. Arthropod has four pairs of walking legs; sexual aperture is situated at the level of the first pair. Define this arthropod: 

A Ornithodorus papillipes 
B Ixodes persulcatus 
C Ixodes ricinus 
D Sarcoptes scabiei 
E Dermacentor nuttalli 
96. A patient is sick with tick-borne relapsing fever. Through the bite of which tick could he become infected? 

A Ornithodorus 
B Sarcoptes 
C Ixodidae
D Gamasidae 
E Dermacentor

97. 16-year-old boy complains about itching of the skin between the fingers which increases at night. During the inspection of the skin were discovered gray thin strips and rash looking as a small dots. What parasite most likely causes this disease? 
A Sarcoptes scabiei 
B Ixodes ricinus 
C Ornithidorus papillipes 
D Dermacentor pictus 
E Ixodes persulcatus 
98. A patient complains of skin itch, especially between fingers, in the inguinal creases, on the lower abdomen. Examination of these regions revealed there some small vesicles. Laboratory diagnostics allowed to establish that this condition had been caused by a representative of Arthropoda. Specify the disease caused by this arthropod:   
A
Scabies  

B
Demodicosis  

C
Myiasis  

D
Pediculosis  

E  Dermatotropic leishmaniasis  

99. A patient presents with acne and inflammatory alterations of facial skin. Microscopial investigation of lesion foci has revealed live arthropods sized 0,2-0,5 mm. They have prolate vermiform form and four pairs of thin short limbs located in the middle part of the body. The revealed arthropods cause: 

A
Demodicosis  

B
Scabies  

C
Myiasis  

D
Pediculosis  

E  Phthiriasis  

100. A young man has the following symptoms: purulent acne on the face; wrinkled, hyperemic skin; eyebrows and eyelashes are falling out. A doctor has made a diagnosis of demodicosis (demodectic mange). What preventive measures can be recommended?
A Maintaining personal hygiene 
B Protection from mite bites

C Repellents
D Processing premises with insecticides
E Donor blood checkup
101. According to the data collected by WHO researchers, every year there are approximately 250 millon malaria cases occur in the world. This disease can be encountered predominantly in tropical and subtropical areas. The spread of this disease matches the natural habitat of the following genus of mosquitoes:   

A
Anopheles  

B
Culex  

C
Aedes  

D
Mansonia  

            E  Culiseta  
102. A doctor revealed tissues injury on patient's scalp with localized suppurations and diagnosed his disease as myiasis. This infestation is caused by larvae of the following insect:   

A
Wohlfahrtia fly   

B
Kissing bug   

C
Stable fly (Stomoxys calcitrans)  

D
Malarial mosquito    

E  Mosquito  
103. A patient has an open facial wound with undermined edges; tissue necrosis with gradually developing partial gangrene that nearly reaches the bone tissue is observed. On close examination the wound contains live larvae. The patient is diagnosed with tissue myiasis. What Diptera larvae are the causative agents of this disease? 
A Wohlfahrtia magnifica 

B Glossina palpalis

C Musca domestica 

D Phlebotomus pappatachi

E Stomoxys calcitrans
104. Mother of a boy who had recently returned from a summer camp found some small whitish insects up to 3 mm long on the child's clothing. Specify the parasite:    

A
Pediculus humanus humanus    

B
Phtirus pubis    

C
Pulex irritans    

D
Cimex lectularius   

E  Blattella germanica    
105. A person who has been admitted to the hospital has scratching on the head. Dorso-ventrally flattened grey insects about 3 mm in length were found at a survey. This is characteristic for:
A Pediculosis 
B Scabiasis 
C Bed bugs bites 
D Allergic rash 
E Demodicosis

106. A patient with suspicion on epidemic typhus was admitted to the hospital. Some arachnids and insects have been found in his flat. Which of them may be a carrier of the pathogen of epidemic typhus? 
A Lice 
B Bed-bugs 
C Cockroaches 
D Spiders 
E Houseflies 
107. A sick man with high temperature and a lot of tiny wounds on the body has been admitted to the hospital. Lice have been found in the folds of his clothing. What disease can be suspected? 
A Epidemic typhus 
B Malaria
C Tularemia 
D Plague 
E Scabies 

108. Medical examination of some youths revealed in their axillary regions grey insects 1,0-1,5 mm large, with short broad body covered with hair. What insects were revealed?  

A
Pubic louse

B
Flea  

C
Head louse  

D
Bed bug  

E Itch mite  

109. In the armpits of a patient the small (1-1,5 mm), dorsoventrally flattened, wingless, blood-sucking insects. Their larvae developed in the armpits too. What disease is caused by these insects?   
A
Phthiriasis

B
Sleeping sickness   

C
Chagas' disease   

D
Plague   

E
Relapsing fever   

EVOLUTION
110. On autopsy of a still-born infant abnormalities have been revealed: ventricles are not separated, a single arterial trunk originates from the right part. For what class of vertebrates is such heart construction characteristic? 
A
Amphibian

B
Fishes

C
Reptiles

D
Mammals

E  Birds

HUMAN ECOLOGY

111. A group of students has representatives of different races. One of the students has straight black hair and overhanging skin fold of superior eyelid - epicanthus. What race does this student most probably represent?   

A
Mongoloid

B
Negroid  

C
Europeoid  
D
Australoid  

E Ethiopian  

112. People living in different parts of the Earth are of different phenotypic peculiarities: Negroid, Mongolian, and Caucasian. This can be explained by the selection: 
A Disruptive
B Artificial 
C Driving
D Stabilizing 
E Sexual 
113. There are South and North strains in Plasmodium vivax that differ in the duration of the incubation period. In the South strain it is short, and in the North strain – long. This reflects the selection: 

A Disruptive 
B Stabilizing

C Artificial
D Sexual
E Driving

114. In humans the concentration of carbon dioxide in the blood increases during active physical work. This leads to the deepening and acceleration of respiration, resulting in the blood decreases the concentration of carbon dioxide and hydrogen ions. This supports: 

A Homeostasis 
B Immunity 
C Ontogenesis 
D Ortobiosis
E Anabiosis 
115. There is a strict time limit for staying at the altitude of over 8,000 meters above sea level without oxygen tanks for man. What is the limiting factor for surviving in this case?
A Partial pressure of oxygen in the air
B Level of ultraviolet irradiation 
C Humidity level 
D Temperature 
E Gravity 
116. People are living in the high land for a long time. What changes in blood and cardio-vascular system will be observed?
A increasing of the hemoglobin level
B increasing of the leukocytes number 
C decreasing of the leukocytes number

D decrease heart rate
E increased diameter of the blood vessels
117. The representatives of one of the human populations has elongated body, considerable variation of growth, reduced muscle volume, long limbs, reduced in size and volume chest, increased sweating, decreased level of basic metabolism and fat synthesis. To which adaptive types of people this population belongs to?

A Tropical
B Arctic
C Desert
D Mountain
E Intermediate
118. Indigenous population of Pamir has the following characteristic features: high rate of base metabolism, elongated tubular bones, wide rib cage, high blood oxygen capacity due to increased number of erythrocytes, high hemoglobin content. What type of ecological adaptation is it? 

A Mountain 

B Temperate 

C Arctic 

D Tropical 

E Subtropical

119. After arriving in the polar region, researchers from Australia have complained of nervous disorders, loss of appetite, aggravation of chronic diseases for 6 months. What process has been disrupted in extreme conditions?

A Adaptation 

B Tolerance 

C Tachyphylaxis 

D Stress 

E Reparation
